



864 Broad Street – 4<sup>th</sup> Floor  
Augusta, Georgia 30901 – 1215  
(706) 826-1000 • Fax: (706) 826-4612

**Charlie B. Walker Jr.**  
*President*

**Kenneth Bradshaw, Ed.D.**  
*Superintendent of Schools*

**Bobby A. Smith, CPA**  
*Chief Financial Officer*

TO: Board Members

FROM: Bobby A. Smith

VIA: Kenneth Bradshaw, Ed.D.  
Superintendent of Schools

DATE: April 18, 2023

SUBJECT: Kitchen Small Equipment RFQ #23-142

Four vendors submitted bids for Kitchen Small Equipment. The contract for this award will be effective April 19, 2023 thru March 31, 2024. Items will be purchased by each location on an as needed basis.

The bid documents state the following: “**AWARD METHOD:** Richmond County School System is looking for one vendor to supply all items for the contract period. The bid will be awarded based on the lowest responsible and responsive bidder who bids on all items meeting specifications and the overall general value received. Vendors must bid on at least 95% of items to be considered. Richmond County reserves the right to seek other sources for items that are unable to be provided by the awarded vendor. We also provided estimated usage for comparison pricing.

11400 Incorporated located in Lancaster, Pennsylvania bid on 255 of the 277 items. Manning Brothers Food Equipment located in Athens, Georgia bid on all items. Norvell Fixture and Equipment Company, Incorporated located in Augusta, Georgia bid on all items. Pueblo Hotel Supply dba Grady’s located in Pueblo, Colorado bid on 252 of the 277 items.

VENDOR	TOTAL COST BASED ON EST. USAGE
11400 Incorporated	\$54,683.14
Manning Brothers Food Equipment	\$67,034.57
Norvell Fixture & Equipment Co., Inc.	\$79,388.74
Pueblo Hotel Supply dba Grady’s	\$70,163.94

Administration recommends the entire bid be awarded to Manning Brothers Food Equipment located in Athens, Georgia for purchases to be made as needed beginning April 19, 2023 through March 31, 2024.

All individual item prices are shown on the attached tally.

				11400 Inc. 2551 Horseshoe Road Lancaster, PA 17601		Manning Brothers Food Equipment 210 Sandy Creek Road Athens, GA 30607	
UNIT	ITEM #	DESCRIPTION	EST. USAGE	UNIT COST	EXTENDED PRICING	UNIT COST	EXTENDED PRICING
<b>LOT "A" - CONTAINERS, DISPENSERS, ICE CHESTS, RACKS, SCOOPS AND TRAYS</b>							
EACH	1	DISPENSER, SQUEEZE BOTTLE 16 OZ: CLEAR MANUFACTURER: TABLECRAFT #11663C	10	\$ 7.14	\$ 71.40	\$ 1.14	\$ 11.40
EACH	2	DISPENSER SPIGOT, RUBBERMAID FOR 3 GAL BEVERAGE CONTAINER MANUFACTURER: RUBBERMAID #RUB3358-L6	6	\$ 12.99	\$ 77.94	\$ 10.35	\$ 62.10
EACH	3	DISPENSER SPIGOT, CARLISLE FOR 3 GAL BEVERAGE CONTAINER MANUFACTURER: CARLISLE #221203	2	\$ 14.29	\$ 28.58	\$ 9.88	\$ 19.76
EACH	4	DISPENSER, BEVERAGE 3 GALLON MANUFACTURER: TABLECRAFT #353DP	2	\$ 31.84	\$ 63.68	\$ 35.93	\$ 71.86
EACH	5	DISPENSER, BEVERAGE 3 GALLON TRIMLINE MANUFACTURER: CARLISLE #10852203	1	\$ 79.94	\$ 79.94	\$ 77.97	\$ 77.97
EACH	6	PITCHER, CLEAR, 64 OZ. W/COVER MANUFACTURER: CAMWEAR #PC64CW	19	\$ 13.64	\$ 259.16	\$ 11.32	\$ 215.08
EACH	7	FOOD CONTAINER, 2 QT, TRANSLUSCENT POLYETHYLENE MANUFACTURER: CAMBRO #RFS2148	8	\$ 3.24	\$ 25.92	\$ 2.74	\$ 21.92
EACH	8	FOOD CONTAINER, 4 QT, TRANSLUSCENT POLYETHYLENE MANUFACTURER: CAMBRO #RFS4148	9	\$ 3.89	\$ 35.01	\$ 3.13	\$ 28.17
EACH	9	FOOD CONTAINER, 6 QT, TRANSLUSCENT POLYETHYLENE MANUFACTURER: CAMBRO #RFS6148	5	\$ 4.54	\$ 22.70	\$ 3.88	\$ 19.40
EACH	10	FOOD CONTAINER, 12 QT, TRANSLUSCENT POLYETHYLENE MANUFACTURER: CAMBRO #RFS12148	1	\$ 10.39	\$ 10.39	\$ 9.09	\$ 9.09
EACH	11	FOOD CONTAINER, 18 QT, TRANSLUSCENT POLYETHYLENE MANUFACTURER: CAMBRO #RFS18148	1	\$ 12.99	\$ 12.99	\$ 11.02	\$ 11.02
EACH	12	FOOD CONTAINER, 22 QT, TRANSLUSCENT POLYETHYLENE MANUFACTURER: CAMBRO #RFS22148	1	\$ 14.29	\$ 14.29	\$ 12.97	\$ 12.97
EACH	13	FOOD CONTAINER COVER, SNAP ON, POLYETHYLENE LID FOR 2 AND 4 QT MANUFACTURER: CAMBRO #RFSC2148	19	\$ 1.29	\$ 24.51	\$ 17.10	\$ 324.90
EACH	14	FOOD CONTAINER COVER, SNAP ON, POLYETHYLENE LID FOR 6 QT MANUFACTURER: CAMBRO #RFSC6148	3	\$ 2.07	\$ 6.21	\$ 1.27	\$ 3.81
EACH	15	FOOD CONTAINER COVER, SNAP ON, POLYETHYLENE LID FOR 12, 18 & 22 QT MANUFACTURER: CAMBRO #RFSC12148	5	\$ 3.89	\$ 19.45	\$ 2.99	\$ 14.95
EACH	16	FOOD CONTAINER, 2 QT, POLYCARBONATE, CLEAR MANUFACTURER: CAMBRO #RFSCW2	1	\$ 5.19	\$ 5.19	\$ 5.17	\$ 5.17
EACH	17	FOOD CONTAINER, 4 QT, POLYCARBONATE, CLEAR MANUFACTURER: CAMBRO #RFSCW4	4	\$ 8.44	\$ 33.76	\$ 8.69	\$ 34.76
EACH	18	CAMSHELVING ULTIMATE SHEET PAN RACK, PLASTIC, FULLY ASSEMBLED MANUFACTURER: CAMBRO UPR1826FPA20	5	\$ 912.60	\$ 4,563.00	\$ 655.20	\$ 3,276.00
EACH	19	CAMSHELVING ULTIMATE SHEET PAN RACK FOR SINGLE SELF MANUFACTURER: CAMBRO CSUPR1826S6	5	\$ 172.90	\$ 864.50	\$ 118.94	\$ 594.70
EACH	20	CAMSHELVING ULTIMATE SHEET PAN RACK COVER, VINYL MANUFACTURER: CAMBRO GBCTUPR	5	\$ 97.49	\$ 487.45	\$ 102.82	\$ 514.10

11400 Inc. 2551 Horseshoe Road Lancaster, PA 17601	Manning Brothers Food Equipment 210 Sandy Creek Road Athens, GA 30607
--	---

UNIT	ITEM #	DESCRIPTION	EST. USAGE	UNIT COST	EXTENDED PRICING	UNIT COST	EXTENDED PRICING
<b>LOT "A" - CONTAINERS, DISPENSERS, ICE CHESTS, RACKS, SCOOPS AND TRAYS (CONTINUED)</b>							
EACH	21	FOOD CONTAINER, 8 QT, POLYCARBONATE, CLEAR MANUFACTURER: CAMBRO #RFSCW8	1	\$ 12.34	\$ 12.34	\$ 12.90	\$ 12.90
EACH	22	FOOD CONTAINER, 12 QT, POLYCARBONATE, CLEAR MANUFACTURER: CAMBRO #RFSCW12	4	\$ 16.89	\$ 67.56	\$ 18.23	\$ 72.92
EACH	23	FOOD CONTAINER, 18 QT, POLYCARBONATE, CLEAR MANUFACTURER: CAMBRO #RFSCW18	1	\$ 23.39	\$ 23.39	\$ 25.06	\$ 25.06
EACH	24	FOOD CONTAINER, 22 QT, POLYCARBONATE, CLEAR MANUFACTURER: CAMBRO #RFSCW22	3	\$ 29.24	\$ 87.72	\$ 28.80	\$ 86.40
EACH	25	FOOD CONTAINER COVER, FITS 2 & 4 QT, POLYCARBONATE, CLEAR, MANUFACTURER: CAMBRO #RFSCWC2135	16	\$ 2.33	\$ 37.28	\$ 2.45	\$ 39.20
EACH	26	FOOD CONTAINER COVER, FITS 6 & 8 QT, POLYCARBONATE, CLEAR MANUFACTURER: CAMBRO #RFSCWC6135	8	\$ 3.24	\$ 25.92	\$ 3.04	\$ 24.32
EACH	27	FOOD CONTAINER COVER, FITS 12, 18 & 22 QT, POLYCARBONATE, CLEAR MANUFACTURER: CAMBRO #RFSCWC12135	5	\$ 6.23	\$ 31.15	\$ 6.96	\$ 34.80
EACH	28	FOOD/TOTE BOX, 6" DEEP 12" X 18" MANUFACTURER: CAMBRO #12186CW135	3	\$ 17.54	\$ 52.62	\$ 16.11	\$ 48.33
EACH	29	FOOD/TOTE BOX FLAT LID, 12" X 18" MANUFACTURER: CAMBRO #1218CCW135	3	\$ 8.83	\$ 26.49	\$ 7.86	\$ 23.58
EACH	30	INGREDIENT BIN W/LID 29" X 13" MANUFACTURER: CAMBRO #IBS27148	1	\$ 335.40	\$ 335.40	\$ 257.04	\$ 257.04
SET	31	INGREDIENT BIN - SLIDING LIDS FRONT & BACK FITS IBS27 MANUFACTURER: CAMBRO #6027/60271 (PLEASE QUOTE A SET PRICE FOR BOTH FRONT AND BACK MODELS)	4	\$ 18.84	\$ 75.36	\$ 22.50	\$ 90.00
EACH	32	INGREDIENT BIN - FLAT SLIDING LID FITS IB27 MANUFACTURER: CAMBRO #IB27LIDCW	1	\$ 20.14	\$ 20.14	\$ 22.50	\$ 22.50
EACH	33	INGREDIENT BIN - FLAT SLIDING LIDS FITS IB27 MANUFACTURER: CAMBRO #IB27LIDCW135	2	\$ 96.84	\$ 193.68	\$ 52.80	\$ 105.60
EACH	34	ICE SCOOP ONLY, 6 OZ, POLYCARBONATE MANUFACTURER: CAL MIL #1029-6	7	\$ 2.59	\$ 18.13	\$ 6.25	\$ 43.75
EACH	35	ICE SCOOP HOLDER, WALL MOUNT W/SCOOP & DRIP TRAY, 64 OZ MANUFACTURER: CAL MIL #793	1	\$ 4.15	\$ 4.15	\$ 115.52	\$ 115.52
EACH	36	ICE SCOOP ONLY, 64 OZ, POLYCARBONATE MANUFACTURER: CAL MIL #1029-64	3	\$ 5.71	\$ 17.13	\$ 13.51	\$ 40.53
EACH	37	ICE CHEST, 24 QT, BLUE MANUFACTURER: RUBBERMAID #RUBC24QUART	5	\$ 175.49	\$ 877.45	\$ 67.50	\$ 337.50
DOZEN	38	TRAY, CAMWEAR, 6 COMPARTMENT, NAVY BLUE, 9" x 15" MANUFACTURER: CAMBRO #1596CW186 (PLEASE QUOTE PER DOZEN PRICE)	1	\$ 219.04	\$ 219.04	\$ 83.52	\$ 83.52

11400 Inc. 2551 Horseshoe Road Lancaster, PA 17601	Manning Brothers Food Equipment 210 Sandy Creek Road Athens, GA 30607
--	---

UNIT	ITEM #	DESCRIPTION	EST. USAGE	UNIT COST	EXTENDED PRICING	UNIT COST	EXTENDED PRICING
<b>LOT "A" - CONTAINERS, DISPENSERS, ICE CHESTS, RACKS, SCOOPS AND TRAYS (CONTINUED)</b>							
DOZEN	39	TRAY, CAMWEAR, 6 COMPARTMENT TRAY, SHERWOOD GREEN, 9 X 15 MANUFACTURER: CAMBRO #1596CW119 (PLEASE QUOTE PER DOZEN PRICE)	1	\$ 219.04	\$ 219.04	\$ 83.52	\$ 83.52
DOZEN	40	TRAY, CAMWEAR, 6 COMPARTMENT TRAY, RED, 9 X 15 MANUFACTURER: CAMBRO #159CW404 (PLEASE QUOTE PER DOZEN PRICE)	1	\$ 219.04	\$ 219.04	\$ 83.52	\$ 83.52
EACH	41	TRAY, FAST FOOD, FULL SIZE SHEET, BLACK, 14" X 18" MANUFACTURER: CAMBRO #1418FF110	4	\$ 63.69	\$ 254.76	\$ 3.97	\$ 15.88
EACH	42	TRAY, FAST FOOD, FULL SIZE SHEET, SHERWOOD GREEN, 14" X 18" MANUFACTURER: CAMBRO #1418FF119	2	\$ 63.69	\$ 127.38	\$ 3.97	\$ 7.94
EACH	43	TRAY, FAST FOOD, FULL SIZE SHEET, RED, 14" X 18" MANUFACTURER: CAMBRO #1418FF163	5	\$ 63.69	\$ 318.45	\$ 3.97	\$ 19.85
EACH	44	TRAY, FAST FOOD, FULL SIZE SHEET, ORANGE, 14" X 18" MANUFACTURER: CAMBRO #1418FF166	4	\$ 63.69	\$ 254.76	\$ 3.97	\$ 15.88
EACH	45	TRAY, FIBERGLASS, CAFETERIA FOR SELF SERVICE, 18" x 26", BLACK MANUFACTURER: CAMBRO #1826CL110	11	\$ 315.24	\$ 3,467.64	\$ 20.54	\$ 225.94
EACH	46	TRAY, FIBERGLASS, CAFETERIA FOR SELF SERVICE, 18" x 26", GREEN MANUFACTURER: CAMBRO #1826CL162	1	\$ 315.24	\$ 315.24	\$ 20.54	\$ 20.54
EACH	47	TRAY, FIBERGLASS, CAFETERIA FOR SELF SERVICE, 18" x 26", RED MANUFACTURER: CAMBRO #1826CL163	1	\$ 315.89	\$ 315.89	\$ 20.54	\$ 20.54
EACH	48	TRAY, FIBERGLASS, CAFETERIA FOR SELF SERVICE, 18" x 26", YELLOW MANUFACTURER: CAMBRO #1826CL145	1	\$ 315.24	\$ 315.24	\$ 20.54	\$ 20.54
EACH	49	RACK, DW, PLATE AND TRAY 19 3/4" MANUFACTURER: VOLLRATH #TR-14	1	\$ 24.04	\$ 24.04	\$ 24.19	\$ 24.19
EACH	50	RACK, DW, FLATWARE, ALL PURPOSE 19 3/4" MANUFACTURER: VOLLRATH #TR2	1	\$ 24.04	\$ 24.04	\$ 23.64	\$ 23.64
EACH	51	RACK, DW, TRAY AND PAN 19 3/4" MANUFACTURER: VOLLRATH #TR30	1	\$ 31.84	\$ 31.84	\$ 36.04	\$ 36.04
EACH	52	RACK, PROFESSIONAL BOARD AND BRUSH MANUFACTURER: WINCO CB-6K	1	\$ 12.73	\$ 12.73	\$ 64.63	\$ 64.63
EACH	53	RACKS FOR DRYING SHEET PANS ONLY, WITH 3" SPACING MANUFACTURER: METRO #MTR2448XEA	1	\$ 110.49	\$ 110.49	\$ 94.16	\$ 94.16
EACH	54	RACKS FOR DRYING SHEET PANS ONLY, WITH 1 1/8" SPACING MANUFACTURER: METRO #MTR2448XE	1	\$ 115.05	\$ 115.05	\$ 94.16	\$ 94.16
EACH	55	RACK FOR CANS, MOBILE, HOLDS 162 #10 CANS MANUFACTURER: WINHOLT #CR162M	1	\$ 830.70	\$ 830.70	\$ 842.84	\$ 842.84
EACH	56	RACK, PAN, MOBILE XTR HEAVY DUTY, ALUMINUM, 21" x 26" x 69, 20 TRAYS CAPACITY (18" x 26" SHEET PANS), 3" DEPTH MANUFACTURER: METRO #RD3N	5	\$ 181.99	\$ 909.95	\$ 803.04	\$ 4,015.20
EACH	57	RACK COVER W/ZIPPER CLOSURE, COVERALL CLEAR, 22" x 28" x 64" MANUFACTURER: KELMAX #4K0192	13	\$ 139.09	\$ 1,808.17	\$ 44.80	\$ 582.40
EACH	58	RACK COVER CUSTOM TRAY RACK 4 ZIPPER, 22.75"W x 28.25"D x 32.75"H MANUFACTURER: KELMAX #4K0187	6	\$ 97.49	\$ 584.94	\$ 84.67	\$ 508.02

				11400 Inc. 2551 Horseshoe Road Lancaster, PA 17601		Manning Brothers Food Equipment 210 Sandy Creek Road Athens, GA 30607	
UNIT	ITEM #	DESCRIPTION	EST. USAGE	UNIT COST	EXTENDED PRICING	UNIT COST	EXTENDED PRICING
<b>LOT "B" - THERMOMETERS</b>							
EACH	59	THERMOMETER, DIGITAL, WATERPROOF MANUFACTURER: COOPER ATKINS #DFP450W-0-8	100	\$ 33.79	\$ 3,379.00	\$ 27.98	\$ 2,798.00
EACH	60	THERMOMETER, BI-THERM MANUFACTURER: TAYLOR #6072-1	2	\$ 2.85	\$ 5.70	\$ 8.82	\$ 17.64
EACH	61	THERMOMETER, INDOOR/OUTDOOR STORAGE, WALL MANUFACTURER: TAYLOR #1105J	1	\$ 17.54	\$ 17.54	\$ 13.86	\$ 13.86
EACH	62	THERMOMETER, REFRIGERATOR/FREEZER MANUFACTURER: COOPER #335011	91	\$ 2.46	\$ 223.86	\$ 4.80	\$ 436.80
EACH	63	THERMOMETER, OVEN GUIDE MANUFACTURER: COOPER #24HP011	9	\$ 3.50	\$ 31.50	\$ 5.72	\$ 51.48
EACH	64	THERMOMETER, HOT HOLDING MANUFACTURER: COOPER #26HP011	8	\$ 4.15	\$ 33.20	\$ 5.72	\$ 45.76
EACH	65	THERMOMETER, BATTERY REPLACEMENT FOR PDT300 MANUFACTURER: COMARK #AB13	2	NO BID	\$ -	\$ 15.60	\$ 31.20
<b>LOT "C" - PANS, POTS, COVERS</b>							
EACH	66	SAUCE PAN, 1 1/2 QT MANUFACTURER: VOLLRATH #434112	1	\$ 32.32	\$ 32.32	\$ 22.78	\$ 22.78
EACH	67	SAUCE PAN COVER, 1 1/2 QT MANUFACTURER: VOLLRATH #67411	1	\$ 18.19	\$ 18.19	\$ 15.47	\$ 15.47
EACH	68	SAUCE POT, 20 QT MANUFACTURER: VOLLRATH #4333	1	\$ 68.24	\$ 68.24	\$ 110.12	\$ 110.12
EACH	69	SAUCE POT COVER, 20 QT MANUFACTURER: VOLLRATH #67533	1	\$ 16.24	\$ 16.24	\$ 21.12	\$ 21.12
EACH	70	SHEET PAN, PROFESSIONAL, PERFORATED, FULL SIZE MANUFACTURER: VOLLRATH #9002P	15	\$ 11.04	\$ 165.60	\$ 23.89	\$ 358.35
EACH	71	SHEET PAN, PROFESSIONAL, BUN PAN, FULL SIZE 18" x 26" MANUFACTURER: VOLLRATH #5315	55	\$ 8.44	\$ 464.20	\$ 38.30	\$ 2,106.50
EACH	72	SHEET PAN, ADAPTER PLATE FOR SERVING LINE MANUFACTURER: VOLLRATH #19199	1	\$ 341.28	\$ 341.28	\$ 240.56	\$ 240.56
EACH	73	SHEET PAN, PROFESSIONAL, BUN PAN, HALF SIZE 18" x 13" MANUFACTURER: VOLLRATH #5314	1	\$ 6.23	\$ 6.23	\$ 23.13	\$ 23.13
EACH	74	BAKE AND ROAST, CAKE PAN, 2 1/4" MANUFACTURER: VOLLRATH #68357	1	\$ 46.79	\$ 46.79	\$ 59.32	\$ 59.32
EACH	75	COLANDER, 16 QT MANUFACTURER: VOLLRATH #68350	1	\$ 46.79	\$ 46.79	\$ 129.38	\$ 129.38
EACH	76	STRAINER, SPAGHETTI, 5 QT MANUFACTURER: VOLLRATH #4605	1	\$ 13.64	\$ 13.64	\$ 56.90	\$ 56.90
EACH	77	DIPPER W/POURING LIP, 64 OZ MANUFACTURER: VOLLRATH #5332	1	\$ 122.84	\$ 122.84	\$ 91.68	\$ 91.68

				11400 Inc. 2551 Horseshoe Road Lancaster, PA 17601		Manning Brothers Food Equipment 210 Sandy Creek Road Athens, GA 30607	
UNIT	ITEM #	DESCRIPTION	EST. USAGE	UNIT COST	EXTENDED PRICING	UNIT COST	EXTENDED PRICING
<b>LOT "C" - PANS, POTS, COVERS (CONTINUED)</b>							
EACH	78	STEAM TABLE PAN, FULL SIZE, 2 1/2" MANUFACTURER: VOLLRATH #30022	8	NO BID	\$ -	\$ 24.90	\$ 199.20
EACH	79	STEAM TABLE PAN, HALF SIZE, 2 1/2" DEEP MANUFACTURER: VOLLRATH #30222	2	NO BID	\$ -	\$ 15.47	\$ 30.94
EACH	80	STEAM TABLE PAN, FULL SIZE, 2 1/2", PERFORATED MANUFACTURER: VOLLRATH #30023	1	NO BID	\$ -	\$ 43.95	\$ 43.95
EACH	81	STEAM TABLE PAN, FULL SIZE, 4" MANUFACTURER: VOLLRATH #30042	6	NO BID	\$ -	\$ 33.42	\$ 200.52
EACH	82	STEAM TABLE PAN, HALF SIZE, 4" MANUFACTURER: VOLLRATH #30242	5	NO BID	\$ -	\$ 22.18	\$ 110.90
EACH	83	STEAM TABLE PAN, FULL SIZE, 4" MANUFACTURER: VOLLRATH #30043	5	NO BID	\$ -	\$ 54.99	\$ 274.95
EACH	84	STEAM TABLE PAN COVER, FULL SIZE, FLAT SOLID, S/S MANUFACTURER: VOLLRATH #77250	5	NO BID	\$ -	\$ 31.55	\$ 157.75
EACH	85	STEAM TABLE PAN COVER, HALF SIZE, FLAT SOLID, S/S MANUFACTURER: VOLLRATH #75120	4	NO BID	\$ -	\$ 15.27	\$ 61.08
EACH	86	FALSE BOTTOM, FULL SIZE, PERFORATED, S/S MANUFACTURER: VOLLRATH #20000	4	NO BID	\$ -	\$ 35.38	\$ 141.52
EACH	87	FALSE BOTTOM, HALF SIZE, PERFORATED, S/S MANUFACTURER: VOLLRATH #20200	1	NO BID	\$ -	\$ 19.91	\$ 19.91
EACH	88	H-PAN, FULL SIZE, 2 1/2" DEEP, BLACK MANUFACTURER: CAMBRO #12HP771	1	NO BID	\$ -	\$ 31.70	\$ 31.70
EACH	89	H-PAN, FULL SIZE, 4" DEEP, BLACK MANUFACTURER: CAMBRO #14HP771	3	NO BID	\$ -	\$ 38.34	\$ 115.02
EACH	90	H-PAN, HALF SIZE, 2 1/2" DEEP, BLACK MANUFACTURER: CAMBRO #22HP110	1	NO BID	\$ -	\$ 15.79	\$ 15.79
EACH	91	H-PAN, HALF SIZE, 4" DEEP, BLACK MANUFACTURER: CAMBRO #24HP771	1	NO BID	\$ -	\$ 20.50	\$ 20.50
EACH	92	H-PAN, 2 1/2" DEEP, LONG, BLACK MANUFACTURER: CAMBRO #22LPHP110	1	NO BID	\$ -	\$ 22.49	\$ 22.49
EACH	93	H-PAN, 4" DEEP, LONG BLACK MANUFACTURER: CAMBRO #24LPHP771	1	NO BID	\$ -	\$ 28.06	\$ 28.06

					11400 Inc. 2551 Horseshoe Road Lancaster, PA 17601		Manning Brothers Food Equipment 210 Sandy Creek Road Athens, GA 30607	
UNIT	ITEM #	DESCRIPTION	EST. USAGE	UNIT COST	EXTENDED PRICING	UNIT COST	EXTENDED PRICING	
<b>LOT "C" - PANS, POTS, COVERS (CONTINUED)</b>								
EACH	94	H-PAN, FLAT COVER, FULL SIZE MANUFACTURER: CAMBRO #10HPC150	1	\$ 34.44	\$ 34.44	\$ 28.49	\$ 28.49	
EACH	95	H-PAN, FLAT COVER, HALF SIZE MANUFACTURER: CAMBRO #20HPC150	1	\$ 14.94	\$ 14.94	\$ 12.36	\$ 12.36	
EACH	96	H-PAN, FLAT COVER W/HANDLE, FULL SIZE MANUFACTURER: CAMBRO #10HPCH150	4	\$ 34.44	\$ 137.76	\$ 28.49	\$ 113.96	
EACH	97	H-PAN COVER W/HANDLE, HALF SIZE MANUFACTURER: CAMBRO #20HPCH150	1	\$ 17.00	\$ 17.00	\$ 13.11	\$ 13.11	
EACH	98	H-PAN, NOTCHED WITH HANDLE, FULL SIZE MANUFACTURER: CAMBRO #10HPCHN150	1	\$ 35.00	\$ 35.00	\$ 28.49	\$ 28.49	
EACH	99	H-PAN, NOTCHED COVER WITH HANDLE, HALF SIZE MANUFACTURER: CAMBRO #20HPCHN150	1	\$ 19.00	\$ 19.00	\$ 15.02	\$ 15.02	
EACH	100	H-PAN, NOTCHED FLIP COVER MANUFACTURER: CAMBRO #20HPLN150	6	\$ 25.99	\$ 155.94	\$ 21.85	\$ 131.10	
<b>LOT "D" - DISHERS, SPOODLES, SPOONS, LADLES &amp; TONGS</b>								
EACH	101	DISHER, #6, 5.3 OZ MANUFACTURER: VOLLRATH #47139	15	\$ 7.79	\$ 116.85	\$ 11.49	\$ 172.35	
EACH	102	DISHER, #8, 4 OZ MANUFACTURER: VOLLRATH #47140	12	\$ 7.79	\$ 93.48	\$ 11.49	\$ 137.88	
EACH	103	DISHER, #10, 3.25 OZ MANUFACTURER: VOLLRATH #47141	8	\$ 7.79	\$ 62.32	\$ 11.49	\$ 91.92	
EACH	104	DISHER, #12, 2.6 OZ MANUFACTURER: VOLLRATH #47142	8	\$ 7.79	\$ 62.32	\$ 11.49	\$ 91.92	
EACH	105	DISHER, #16, 2.0 OZ MANUFACTURER: VOLLRATH #47143	5	\$ 7.79	\$ 38.95	\$ 11.49	\$ 57.45	
EACH	106	DISHER, #20, 1.6 OZ MANUFACTURER: VOLLRATH #47144	2	\$ 7.79	\$ 15.58	\$ 11.49	\$ 22.98	
EACH	107	DISHER, #24, 1.3 OZ MANUFACTURER: VOLLRATH #47145	3	\$ 7.79	\$ 23.37	\$ 11.49	\$ 34.47	
EACH	108	DISHER, #8, LEFT HANDED MANUFACTURER: VOLLRATH #47150	8	\$ 7.79	\$ 62.32	\$ 13.81	\$ 110.48	
EACH	109	DISHER, #10, 3.75 OZ, LEFT HANDED MANUFACTURER: VOLLRATH #47151	1	\$ 7.79	\$ 7.79	\$ 13.81	\$ 13.81	
EACH	110	DISHER, #12, 3.25 OZ, LEFT HANDED, SQUEEZE HANDLE MANUFACTURER: VOLLRATH #47152	1	\$ 7.79	\$ 7.79	\$ 13.81	\$ 13.81	
EACH	111	DISHER, #16, 2 OZ, LEFT HANDED MANUFACTURER: VOLLRATH #47153	1	\$ 7.79	\$ 7.79	\$ 13.81	\$ 13.81	

				11400 Inc. 2551 Horseshoe Road Lancaster, PA 17601		Manning Brothers Food Equipment 210 Sandy Creek Road Athens, GA 30607	
UNIT	ITEM #	DESCRIPTION	EST. USAGE	UNIT COST	EXTENDED PRICING	UNIT COST	EXTENDED PRICING
<b>LOT "D" - DISHERS, SPOODLES, SPOONS, LADLES &amp; TONGS (CONTINUED)</b>							
EACH	112	SPOODLE, SOLID GRAY, OVAL 4 OZ MANUFACTURER: VOLLRATH #6412445	1	\$ 16.02	\$ 16.02	\$ 11.29	\$ 11.29
EACH	113	SPOODLE, SOLID BLACK, OVAL, 5 OZ MANUFACTURER: VOLLRATH #6412520	1	\$ 16.45	\$ 16.45	\$ 11.59	\$ 11.59
EACH	114	SPOODLE, SOLID OVAL, TEAL, 6 OZ MANUFACTURER: VOLLRATH #6412655	1	\$ 16.67	\$ 16.67	\$ 11.74	\$ 11.74
EACH	115	SPOODLE, SOLID OVAL, ORANGE, 8 OZ MANUFACTURER: VOLLRATH #6412865	1	\$ 17.10	\$ 17.10	\$ 12.05	\$ 12.05
EACH	116	SPOODLE, PERFORATED, OVAL, GRAY, 4 OZ MANUFACTURER: VOLLRATH #6422445	1	\$ 16.02	\$ 16.02	\$ 11.29	\$ 11.29
EACH	117	SPOODLE, PERFORATED, OVAL, BLACK, 5 OZ MANUFACTURER: VOLLRATH #6422520	1	\$ 16.45	\$ 16.45	\$ 11.59	\$ 11.59
EACH	118	SPOODLE, PERFORATED, OVAL, TEAL, 6 OZ MANUFACTURER: VOLLRATH #6422655	1	\$ 16.67	\$ 16.67	\$ 11.74	\$ 11.74
EACH	119	SPOONS, SOLID 15" MANUFACTURER: VOLLRATH #46981	5	\$ 1.55	\$ 7.75	\$ 3.48	\$ 17.40
EACH	120	SPOONS, PERFORATED 15" MANUFACTURER: VOLLRATH #46983	1	\$ 1.55	\$ 1.55	\$ 3.48	\$ 3.48
EACH	121	SPOONS, SOLID 21" MANUFACTURER: VOLLRATH #46995	1	\$ 7.01	\$ 7.01	\$ 5.59	\$ 5.59
EACH	122	LADLE, 4 OZ, MANUFACTURER: VOLLRATH #58440	1	\$ 2.33	\$ 2.33	\$ 12.90	\$ 12.90
EACH	123	LADLE, 6 OZ MANUFACTURER: VOLLRATH #58460	1	\$ 2.98	\$ 2.98	\$ 13.51	\$ 13.51
EACH	124	LADLE, 8 OZ MANUFACTURER: VOLLRATH #58480	1	\$ 3.37	\$ 3.37	\$ 15.17	\$ 15.17
EACH	125	TONGS, SCALLOP GRIP, 9" MANUFACTURER: CAMBRO #9TGS110	8	\$ 3.50	\$ 28.00	\$ 2.14	\$ 17.12
EACH	126	TONGS, SCALLOP GRIP, 12" MANUFACTURER: CAMBRO #12TGS110	4	\$ 5.06	\$ 20.24	\$ 3.26	\$ 13.04
EACH	127	TONGS, HEAVY DUTY LOCKING, 9" MANUFACTURER: EDLUND #4409HDL	3	\$ 2.07	\$ 6.21	\$ 7.67	\$ 23.01
EACH	128	TONGS, HEAVY DUTY LOCKING, 12" MANUFACTURER: EDLUND #4412HDL	6	\$ 2.59	\$ 15.54	\$ 7.64	\$ 45.84

					11400 Inc. 2551 Horseshoe Road Lancaster, PA 17601		Manning Brothers Food Equipment 210 Sandy Creek Road Athens, GA 30607	
UNIT	ITEM #	DESCRIPTION	EST. USAGE	UNIT COST	EXTENDED PRICING	UNIT COST	EXTENDED PRICING	
<b>LOT "E" - KNIVES, BLADES, CUTTERS, SECTIONIZERS &amp; PARTS</b>								
EACH	129	KNIFE, UTILITY SLICER, 9", MANUFACTURER: DEXTER RUSSELL #S1429SCPCP	19	\$ 8.44	\$ 160.36	\$ 18.90	\$ 359.10	
EACH	130	KNIFE, PARING MANUFACTURER: DEXTER RUSSELL #S104PCO	40	\$ 3.50	\$ 140.00	\$ 4.99	\$ 199.60	
EACH	131	KNIFE, HOLLOW GROUND BONER, 6" MANUFACTURER: DEXTER RUSSELL #S156-HGPCP	8	\$ 7.14	\$ 57.12	\$ 15.65	\$ 125.20	
EACH	132	KNIFE, CHEF'S W/FIBROX HANDLE, 10" MANUFACTURER: DEXTER RUSSELL #S145-10PCP	5	\$ 11.69	\$ 58.45	\$ 27.12	\$ 135.60	
EACH	133	KNIFE, SCALLOPED EDGES UTILITY, 8" STAINLESS STEEL MANUFACTURER: DEXTER RUSSELL #S158SCPCP	8	\$ 8.44	\$ 67.52	\$ 15.75	\$ 126.00	
EACH	134	KNIFE, BUTCHER, 10" STAINLESS STEEL MANUFACTURER: DEXTER RUSSELL #S112-10PCP	1	\$ 14.29	\$ 14.29	\$ 28.30	\$ 28.30	
EACH	135	TURNER, HAMBURGER, 4" x 3", STAINLESS STEEL MANUFACTURER: DEXTER RUSSELL #P94854	2	\$ 3.89	\$ 7.78	\$ 11.04	\$ 22.08	
EACH	136	TURNER, CAKE 8" x 3" MANUFACTURER: DEXTER RUSSELL #S286-8	2	\$ 7.14	\$ 14.28	\$ 20.82	\$ 41.64	
EACH	137	CUTTING BOARD, LARGE, WHITE, 18 x 24 x 1/2" MANUFACTURER: SAN JAMAR #CB182412WH	5	\$ 20.14	\$ 100.70	\$ 30.14	\$ 150.70	
EACH	138	CAN OPENER, DUEL SPEEDS, 75 CANS MANUFACTURER: EDLUND #203/115V	3	\$ 999.70	\$ 2,999.10	\$ 828.07	\$ 2,484.21	
EACH	139	CUTTING BOARD, SMALL, WHITE, 18 x 12 x 1/2" MANUFACTURER: SAN JAMAR #CB121812WH	1	\$ 10.39	\$ 10.39	\$ 15.11	\$ 15.11	
EACH	140	CUTTER, DOUGH /SCRAPER, 6" x 3" MANUFACTURER: DEXTER RUSSELL #S196	1	\$ 2.59	\$ 2.59	\$ 7.81	\$ 7.81	
EACH	141	CUTTER FOR CARDBOARD BOX, RETRACTABLE UTILITY KNIFE MANUFACTURER: RUBBERMAID #FG9H0500RED	1	\$ 3.76	\$ 3.76	\$ 3.93	\$ 3.93	
EACH	142	CUTTER FOR PIZZA, 4" MANUFACTURER: DEXTER RUSSELL #P177APCP	9	\$ 4.15	\$ 37.35	\$ 18.98	\$ 170.82	
EACH	143	DISPENSER, FOIL AND FILM WRAP/CUTTER 18" MANUFACTURER: TABLECRAFT #KK3	2	\$ 51.99	\$ 103.98	\$ 49.16	\$ 98.32	
EACH	144	DISPENSER BLADE, FOR FOIL WRAP, 18" REPLACEMENT BLADE MANUFACTURER: KENKUT #682-054	1	\$ 6.88	\$ 6.88	\$ 3.92	\$ 3.92	
EACH	145	SHEARS, KITCHEN, 7" SOFGRIP, STAINLESS STEEL MANUFACTURER: DEXTER RUSSELL #SGS01B-CP	9	\$ 25.99	\$ 233.91	\$ 9.73	\$ 87.57	
EACH	146	CORER FOR TOMATOES MANUFACTURER: VOLLRATH #1400	4	\$ 5.19	\$ 20.76	\$ 2.12	\$ 8.48	
EACH	147	PEELER, VEGETABLE MANUFACTURER: CARLISLE #6020	1	\$ 4.15	\$ 4.15	\$ 1.20	\$ 1.20	

					11400 Inc. 2551 Horseshoe Road Lancaster, PA 17601		Manning Brothers Food Equipment 210 Sandy Creek Road Athens, GA 30607	
UNIT	ITEM #	DESCRIPTION	EST. USAGE	UNIT COST	EXTENDED PRICING	UNIT COST	EXTENDED PRICING	
<b>LOT "E" - KNIVES, BLADES, CUTTERS, SECTIONIZERS &amp; PARTS (CONTINUED)</b>								
EACH	148	CAN OPENER BLADE FOR MODEL 203 AND 266 MANUFACTURER: EDLUND #KT2326	13	\$ 70.19	\$ 912.47	\$ 29.20	\$ 379.60	
EACH	149	CAN OPENER REPLACEMENT PARTS FOR MODEL 270 MANUFACTURER: EDLUND #KT2700	3	\$ 211.24	\$ 633.72	\$ 120.00	\$ 360.00	
EACH	150	CAN OPENER SHIELD FOR MODEL 270 MANUFACTURER: EDLUND #A279	1	\$ 43.54	\$ 43.54	\$ 26.88	\$ 26.88	
EACH	151	CAN OPENER CLEANING TOOL MANUFACTURER: EDLUND #ST-93	3	\$ 53.94	\$ 161.82	\$ 36.46	\$ 109.38	
EACH	152	SUNKIST, SECTIONER COMPLETE MANUFACTURER: SUNKIST #S-102	2	\$ 408.84	\$ 817.68	\$ 255.36	\$ 510.72	
EACH	153	SUNKIST, APPLE CORER SET MANUFACTURER: SUNKIST #S-34	1	\$ 198.89	\$ 198.89	\$ 78.40	\$ 78.40	
EACH	154	SUNKIST, BLADE, 4 SLICE CUP WITH COVER FOR SECTIONIZER MANUFACTURER: SUNKIST #S-5B	1	\$ 55.24	\$ 55.24	\$ 32.48	\$ 32.48	
EACH	155	SUNKIST, BLADE, 6 SLICE CUP WITH COVER FOR SECTIONIZER MANUFACTURER: SUNKIST #S-3B	1	\$ 55.24	\$ 55.24	\$ 32.48	\$ 32.48	
EACH	156	SUNKIST, WEDGE CUP COVER MANUFACTURER: SUNKIST #S-6	1	\$ 20.79	\$ 20.79	\$ 10.08	\$ 10.08	
EACH	157	CROSSBAR ASSEMBLY MANUFACTURER: SUNKIST #S-11	1	\$ 66.29	\$ 66.29	\$ 32.48	\$ 32.48	
EACH	158	FOOT PADS MANUFACTURER: SUNKIST #S-1	1	\$ 8.44	\$ 8.44	\$ 4.48	\$ 4.48	
EACH	159	SUNKIST, PLUNGE WEDGER MANUFACTURER: SUNKIST #S-9	1	\$ 37.69	\$ 37.69	\$ 17.92	\$ 17.92	
EACH	160	SUNKIST, PLUNGER, APPLE REPLACEMENT MANUFACTURER: SUNKIST #S-33	1	\$ 43.54	\$ 43.54	\$ 21.28	\$ 21.28	
EACH	161	SUNKIST, BLADE AND PLUNGER, TOMATO SET MANUFACTURER: SUNKIST #S-17	1	\$ 159.24	\$ 159.24	\$ 70.56	\$ 70.56	
EACH	162	SUNKIST, BLADE CUP W/COVER, 8 WEDGES MANUFACTURER: SUNKIST #S-29B	1	\$ 58.49	\$ 58.49	\$ 34.72	\$ 34.72	
EACH	163	SUNKIST, PRODUCTIONS STAND, PLASTIC MANUFACTURER: SUNKIST #S-31	1	\$ 188.49	\$ 188.49	\$ 86.24	\$ 86.24	
EACH	164	SUNKIST, PLUNGER FOR 6 SLICE BLADE SET MANUFACTURER: SUNKIST #S-10	1	\$ 37.69	\$ 37.69	\$ 17.92	\$ 17.92	
EACH	165	SUNKIST, PLASTIC SHAFT COVER MANUFACTURER: SUNKIST #S-25	1	\$ 14.94	\$ 14.94	\$ 6.72	\$ 6.72	
EACH	166	SUNKIST, HANDLE MANUFACTURER: SUNKIST #S-26	1	\$ 26.64	\$ 26.64	\$ 12.32	\$ 12.32	
EACH	167	SUNKIST, KNOB MANUFACTURER: SUNKIST #S-27	1	\$ 24.04	\$ 24.04	\$ 11.20	\$ 11.20	

					11400 Inc. 2551 Horseshoe Road Lancaster, PA 17601		Manning Brothers Food Equipment 210 Sandy Creek Road Athens, GA 30607	
UNIT	ITEM #	DESCRIPTION	EST. USAGE	UNIT COST	EXTENDED PRICING	UNIT COST	EXTENDED PRICING	
<b>LOT "E" - KNIVES, BLADES, CUTTERS, SECTIONIZERS &amp; PARTS (CONTINUED)</b>								
EACH	168	SUNKIST, PIN AND THREAD ASSEMBLY KIT MANUFACTURER: SUNKIST #S-8D	1	\$ 14.94	\$ 14.94	\$ 6.72	\$ 6.72	
EACH	169	SLICER, TOMATO BLADE REPLACEMENT FOR TOMATO PRO, 1/4" MANUFACTURER: VOLLRATH #654	1	\$ 56.94	\$ 56.94	\$ 44.15	\$ 44.15	
EACH	170	SLICER, TOMATO BLADE REPLACEMENT FOR NEMCO, 1/4" MANUFACTURER: NEMCO #466-2	1	\$ 48.62	\$ 48.62	\$ 33.85	\$ 33.85	
EACH	171	SLICER, TOMATO, 1/4" MANUFACTURER: VOLLRATH #0644N	1	\$ 561.93	\$ 561.93	\$ 435.71	\$ 435.71	
EACH	172	CAN OPENER - 3.5(H) X 10.5 (W) X 4.5 (D) FOCUS FOODSERVICE- SWING A WAY EASY CRANK CAN OPENER, LARGE CRANK MECHANISM, EXTRA LONG HANDLES, BLACK SWING GRIPS, ALUMINUM.	2	\$ 136.49	\$ 272.98	\$ 13.08	\$ 26.16	
<b>LOT "F" - MEASURING EQUIPMENT</b>								
EACH	173	MEASURING SPOONS SET, STAINLESS STEEL, 1 TBL;1 TSP; 1/2 TSP; 1/4 TSP MANUFACTURER: VOLLRATH #47118	10	\$ 2.85	\$ 28.50	\$ 5.80	\$ 58.00	
EACH	174	MEASURING CUPS SET, 1/4 C; 1/2 C, 1/3 C, 1 C MANUFACTURER: VOLLRATH #47119	5	\$ 5.19	\$ 25.95	\$ 17.69	\$ 88.45	
EACH	175	MEASURE, LIQUID, POLYETHYLENE, 1 C MANUFACTURER: CAMBRO #25MCCW135	6	\$ 1.68	\$ 10.08	\$ 4.08	\$ 24.48	
EACH	176	MEASURE, LIQUID, POLYETHYLENE, 1 PT MANUFACTURER: CAMBRO #50MCCW135	4	\$ 1.94	\$ 7.76	\$ 7.56	\$ 30.24	
EACH	177	MEASURE, LIQUID, POLYETHYLENE, 1 QT MANUFACTURER: CAMBRO #100MCCW135	2	\$ 3.24	\$ 6.48	\$ 8.52	\$ 17.04	
EACH	178	MEASURE, LIQUID, POLYETHYLENE, 2 QT MANUFACTURER: CAMBRO #200MCCW135	2	\$ 6.49	\$ 12.98	\$ 11.74	\$ 23.48	
EACH	179	MEASURE, LIQUID, POLYETHYLENE, 4 QT MANUFACTURER: CAMBRO #400MCCW135	7	\$ 9.09	\$ 63.63	\$ 12.75	\$ 89.25	
EACH	180	MEASURE, DIGITAL SCALE REPLACEMENT AC CORD MANUFACTURER: EDLUND #PS5006	1	\$ 120.24	\$ 120.24	\$ 77.86	\$ 77.86	
EACH	181	MEASURE, DIGITAL SCALE, 20 POUND MANUFACTURER: EDLUND #EPZ-20	2	\$ 619.44	\$ 1,238.88	\$ 515.59	\$ 1,031.18	
EACH	182	SCALE PORTION, DIGITAL 33# MANUFACTURER: TAYLOR #TE33OS	2	\$ 136.49	\$ 272.98	\$ 76.97	\$ 153.94	

					11400 Inc. 2551 Horseshoe Road Lancaster, PA 17601		Manning Brothers Food Equipment 210 Sandy Creek Road Athens, GA 30607	
UNIT	ITEM #	DESCRIPTION	EST. USAGE	UNIT COST	EXTENDED PRICING	UNIT COST	EXTENDED PRICING	
<b>LOT "G" - MITTENS, GLOVES AND MICROFIBER TOWELS</b>								
PAIR	183	MITT, OVEN FLAME GUARD, 17" MANUFACTURER: SAN JAMAR #800FG17	2	\$ 8.44	\$ 16.88	\$ 12.96	\$ 25.92	
PAIR	184	GLOVE, DISHWASHING, LATEX MANUFACTURER: SAN JAMAR #620-S	2	\$ 10.39	\$ 20.78	\$ 2.21	\$ 4.42	
PAIR	185	GLOVE, DISHWASHING, LATEX, MEDIUM MANUFACTURER: SAN JAMAR #620-M	3	\$ 10.39	\$ 31.17	\$ 2.21	\$ 6.63	
PAIR	186	GLOVE, DISHWASHING, LATEX, LARGE MANUFACTURER: SAN JAMAR #620-L	2	\$ 10.39	\$ 20.78	\$ 2.21	\$ 4.42	
PAIR	187	GLOVE, DISHWASHING, HEAVY DUTY RUBBER, ONE SIZE MANUFACTURER: SAN JAMAR #1217EL	14	\$ 38.99	\$ 545.86	\$ 18.60	\$ 260.40	
PAIR	188	GLOVE, CUT RESISTANT, SMALL MANUFACTURER: SAN JAMAR #DFG 1000-S	1	\$ 7.79	\$ 7.79	\$ 32.32	\$ 32.32	
PAIR	189	GLOVE, CUT RESISTANT, MEDIUM MANUFACTURER: SAN JAMAR #DFG 1000-M	1	\$ 7.79	\$ 7.79	\$ 32.32	\$ 32.32	
PAIR	190	GLOVE, CUT RESISTANT, LARGE MANUFACTURER: SAN JAMAR #DFG 1000-L	1	\$ 7.79	\$ 7.79	\$ 32.32	\$ 32.32	
PAIR	191	SLEEVE, 18" KELVAR HEAT RESISTANT MANUFACTURER: SAN JAMAR #SLK16	1	NO BID	\$ -	\$ 18.44	\$ 18.44	
PAIR	192	SLEEVE, 18" TERRY COTTON, HEAT RESISTANT MANUFACTURER: SAN JAMAR CHEF REVIVAL #SLWT16	1	\$ 9.48	\$ 9.48	\$ 14.09	\$ 14.09	
DOZEN	193	DISH TOWELS, MICROFIBER, YELLOW MANUFACTURER: RUBBERMAID #FGQ610	217	\$ 11.69	\$ 2,536.73	\$ 42.00	\$ 9,114.00	
DOZEN	194	DISH TOWELS, MICROFIBER, BLUE MANUFACTURER: RUBBERMAID #FGQ620 (PLEASE QUOTE PER DOZEN PRICE)	50	\$ 11.69	\$ 584.50	\$ 44.22	\$ 2,211.00	
<b>LOT "H" - APRONS, DISH TOWELS, POT HOLDERS</b>								
DOZEN	195	DISH TOWELS, 100% COTTON, 17 x 20, 30 OZ/DOZEN, 100% NEW COTTON, 3 THREADS PER LOOP, SINGLE RIB <b>*SAMPLE REQUIRED* PLEASE PROVIDE ONE DOZEN OF THE DISH TOWELS YOU ARE BIDDING.</b>	116	\$ 8.18	\$ 948.88	\$ 14.17	\$ 1,643.72	
DOZEN	196	POT HOLDERS, 100% NEW FLEXON COTTON YARNS, 8.5" x 11", 32 OZ/SQ. YRD, DOUBLE BONDED; <b>*SAMPLE REQUIRED* PLEASE PROVIDE ONE DOZEN OF THE POT HOLDERS YOU ARE BIDDING.</b>	15	\$ 32.49	\$ 487.35	\$ 63.44	\$ 951.60	
EACH	197	APRON WITH POCKETS, RED, 50% NEW COTTON/50% POLYESTER YARN, 7-8 OZ	85	\$ 4.28	\$ 363.80	\$ 10.96	\$ 931.60	
EACH	198	APRON WITH POCKETS, BLACK, 50% NEW COTTON/50% POLYESTER YARN, 7- 8 OZ	89	\$ 4.28	\$ 380.92	\$ 10.43	\$ 928.27	

				11400 Inc. 2551 Horseshoe Road Lancaster, PA 17601		Manning Brothers Food Equipment 210 Sandy Creek Road Athens, GA 30607	
UNIT	ITEM #	DESCRIPTION	EST. USAGE	UNIT COST	EXTENDED PRICING	UNIT COST	EXTENDED PRICING
<b>LOT "I" - BRUSHES, WHIPS, SCRAPERS AND PADDLES</b>							
EACH	199	PASTRY BRUSH, 4" WIDE MANUFACTURER: CARLISLE #4039302	12	\$ 9.48	\$ 113.76	\$ 12.94	\$ 155.28
EACH	200	PASTRY BAG, 18"; 9.5" x 17", NYLON, REUSABLE MANUFACTURER: BROWN-HALCO #NPB-6	1	\$ 2.33	\$ 2.33	\$ 7.10	\$ 7.10
EACH	201	DREDGER WITHOUT HANDLE, ALUMINUM MANUFACTURER: VOLLRATH #68183	1	\$ 2.59	\$ 2.59	\$ 5.34	\$ 5.34
EACH	202	WHIP, FRENCH 12" MANUFACTURER: UPDATE INTERNATIONAL #FW-12	3	\$ 3.63	\$ 10.89	\$ 3.61	\$ 10.83
EACH	203	WHIP, FRENCH 14" MANUFACTURER: UPDATE INTERNATIONAL #FW-14	5	\$ 4.28	\$ 21.40	\$ 3.97	\$ 19.85
EACH	204	WHIP, FRENCH 16" MANUFACTURER: UPDATE INTERNATIONAL #FW-16	3	\$ 4.80	\$ 14.40	\$ 4.57	\$ 13.71
EACH	205	WHIP, FRENCH 18" MANUFACTURER: UPDATE INTERNATIONAL #FW-18	1	\$ 5.58	\$ 5.58	\$ 5.19	\$ 5.19
EACH	206	WHIP, FRENCH 20" MANUFACTURER: UPDATE INTERNATIONAL #FW-20	1	\$ 6.23	\$ 6.23	\$ 5.70	\$ 5.70
EACH	207	WHIP, FRENCH 48" MANUFACTURER: CARLISLE #40682	1	\$ 133.24	\$ 133.24	\$ 111.70	\$ 111.70
EACH	208	WHIP, PIANO 10" MANUFACTURER: UPDATE INTERNATIONAL #PW-10	3	\$ 2.59	\$ 7.77	\$ 2.66	\$ 7.98
EACH	209	WHIP, PIANO 16" MANUFACTURER: UPDATE INTERNATIONAL #PW-16	1	\$ 3.89	\$ 3.89	\$ 3.66	\$ 3.66
EACH	210	SPATULA SCRAPER, 16 1/2" MANUFACTURER: RUBBERMAID #FG1906	6	\$ 1.94	\$ 11.64	\$ 5.84	\$ 35.04
SET	211	SPATULA SCRAPER, 13 1/2" MANUFACTURER: RUBBERMAID #FG1905	9	\$ 1.68	\$ 15.12	\$ 4.47	\$ 40.23
EACH	212	SPATULA SCRAPER, 9 1/2" MANUFACTURER: RUBBERMAID #FG1901	4	\$ 1.16	\$ 4.64	\$ 2.52	\$ 10.08
EACH	213	SPATULA SCRAPER, HIGH HEAT, 16 1/2" MANUFACTURER: RUBBERMAID #FG1964	4	\$ 4.80	\$ 19.20	\$ 20.97	\$ 83.88
EACH	214	SCRAPER, BOWL SCRAPER 5" x 3" MANUFACTURER: BROWNE #FS8446	1	\$ 0.64	\$ 0.64	\$ 1.00	\$ 1.00
EACH	215	PADDLE MIXING, 60" STAINLESS STEEL MANUFACTURER: UPDATE INTERNATIONAL #MPS-60	1	\$ 45.49	\$ 45.49	\$ 27.55	\$ 27.55
EACH	216	PADDLE SCRAPER, 48" NYLON MANUFACTURER: CARLISLE #40354	1	\$ 47.44	\$ 47.44	\$ 112.45	\$ 112.45
EACH	217	BRUSH, BAKE PAN LIP MANUFACTURER: CARLISLE #4002402	6	\$ 3.24	\$ 19.44	\$ 7.32	\$ 43.92
EACH	218	BRUSH, BRASS WIRE, 2" MANUFACTURER: CARLISLE #4067200	1	\$ 10.13	\$ 10.13	\$ 10.52	\$ 10.52
EACH	219	BRUSH, CLEAN-UP SCRUB, 20" MANUFACTURER: CARLISLE #4050000	1	\$ 12.34	\$ 12.34	\$ 15.12	\$ 15.12
<b>LOT "J" - BRUSHES, MOPS, CONTAINERS, DOLLY AND CARTS</b>							
EACH	220	BRUSH, DISHWASHER SPRAY ARM, 35" MANUFACTURER: CARLISLE #4002800	1	\$ 14.29	\$ 14.29	\$ 6.89	\$ 6.89
EACH	221	BRUSH, FRYER BRUSH LOOPED, 24" MANUFACTURER: CARLISLE #40112	1	NO BID	\$ -	\$ 61.56	\$ 61.56

				11400 Inc. 2551 Horseshoe Road Lancaster, PA 17601		Manning Brothers Food Equipment 210 Sandy Creek Road Athens, GA 30607	
UNIT	ITEM #	DESCRIPTION	EST. USAGE	UNIT COST	EXTENDED PRICING	UNIT COST	EXTENDED PRICING
EACH	222	BRUSH, HAND & NAIL KIT MANUFACTURER: CARLISLE #4002100	1	\$ 17.54	\$ 17.54	\$ 14.35	\$ 14.35
EACH	223	BRUSH, HAND SCRUB CLEAN-UP, 8" MANUFACTURER: CARLISLE #4054103	1	\$ 7.79	\$ 7.79	\$ 8.17	\$ 8.17
EACH	224	BRUSH, HAND SCRUB CLEAN-UP, 20" MANUFACTURER: CARLISLE #4050103	1	\$ 11.69	\$ 11.69	\$ 12.45	\$ 12.45
EACH	225	BRUSH, HANDLE SCRAPER W/CARBON STEEL BRISTLES MANUFACTURER: CARLISLE #4067100	2	\$ 10.13	\$ 20.26	\$ 7.49	\$ 14.98
EACH	226	BRUSH, HI-LO FLOOR SCRUB MANUFACTURER: CARLISLE #4042301	1	\$ 12.99	\$ 12.99	\$ 13.59	\$ 13.59
EACH	227	BRUSH, KETTLE DRAIN VALVE MANUFACTURER: CARLISLE #4015000	1	\$ 8.44	\$ 8.44	\$ 7.57	\$ 7.57
EACH	228	BRUSH, OVEN AND SCRAPER, BRASS WIRE BRISTLES MANUFACTURER: CARLISLE #4029100	1	\$ 27.29	\$ 27.29	\$ 23.48	\$ 23.48
EACH	229	BRUSH, TANK & KETTLE MANUFACTURER: CARLISLE #4004200	1	NO BID	\$ -	\$ 35.46	\$ 35.46
EACH	230	BRUSH, TOOTHBRUSH, SMALL, STAINLESS STEEL MANUFACTURER: CARLISLE #4067500	9	\$ 3.37	\$ 30.33	\$ 2.62	\$ 23.58
EACH	231	SQUEEGEE, FLOOR CLEANING, DOUBLE FOAM 24" & TAMPERED WOOD 54" HANDLE, MANUFACTURER: CARLISLE #40082/40261	1	NO BID	\$ -	\$ 32.64	\$ 32.64
EACH	232	HANDLE, THREADED, PLASTIC W/REINFORCED TIP, 1" D, 36" MANUFACTURER: CARLISLE #4023000	1	\$ 10.39	\$ 10.39	\$ 15.95	\$ 15.95
EACH	233	HANDLE, THREADED, METAL TIP, WOOD, 7/8" D, 40" MANUFACTURER: CARLISLE #4027500	1	\$ 7.79	\$ 7.79	\$ 6.17	\$ 6.17
EACH	234	HOLDER SYSTEM, 18" ROLL N GRIP MANUFACTURER: CARLISLE #4073100	1	\$ 35.09	\$ 35.09	\$ 27.72	\$ 27.72
EACH	235	PAIL, GREEN, SOAP SOLUTION, 6 QT manufacturer: SAN JAMAR #KP196GN	2	\$ 4.80	\$ 9.60	\$ 5.82	\$ 11.64
EACH	236	PAIL, RED, SANITIZING SOLUTION, 6 QT MANUFACTURER: SAN JAMAR #KP196RD	2	\$ 4.80	\$ 9.60	\$ 5.82	\$ 11.64

				11400 Inc. 2551 Horseshoe Road Lancaster, PA 17601		Manning Brothers Food Equipment 210 Sandy Creek Road Athens, GA 30607	
UNIT	ITEM #	DESCRIPTION	EST. USAGE	UNIT COST	EXTENDED PRICING	UNIT COST	EXTENDED PRICING
<b>LOT "J" - BRUSHES, MOPS, CONTAINERS, DOLLY AND CARTS (CONTINUED)</b>							
EACH	237	BRUTE BUCKET, 10 QUART MANUFACTURER: RUBBERMAID #FG296300GRAY	2	\$ 14.29	\$ 28.58	\$ 12.91	\$ 25.82
EACH	238	MOPPING SYSTEM, WAVE BRAKE, 35 QT, YELLOW MANUFACTURER: RUBBERMAID #FG758088YEL	6	\$ 64.99	\$ 389.94	\$ 120.23	\$ 721.38
EACH	239	CAN, TRASH, STEP-ON, WHITE, 12 GALLON MANUFACTURER: RUBBERMAID #FG614400WHT	5	\$ 64.99	\$ 324.95	\$ 118.36	\$ 591.80
EACH	240	CONTAINER, TRASH 44 GALLON, (MEDIUM RED), RED BRUTE MANUFACTURER: RUBBERMAID #FG64300RED	1	\$ 49.39	\$ 49.39	\$ 68.22	\$ 68.22
EACH	241	DOME TOP FOR 44 GALLON 2643 MANUFACTURER: RUBBERMAID #FG264788RED	1	\$ 135.20	\$ 135.20	\$ 109.39	\$ 109.39
EACH	242	CONTAINER, TRASH 55 GALLON, (LARGE RED), BRUTE MANUFACTURER: RUBBERMAID #FG265500RED	3	\$ 63.69	\$ 191.07	\$ 95.29	\$ 285.87
EACH	243	DOME TOP FOR 55 GALLON 2655 MANUFACTURER: RUBBERMAID #FG265788RED	1	\$ 193.70	\$ 193.70	\$ 139.50	\$ 139.50
EACH	244	DOLLY, UNIVERSAL FOR TRASH CONTAINERS MANUFACTURER: RUBBERMAID #FG264000	3	\$ 28.59	\$ 85.77	\$ 62.99	\$ 188.97
EACH	245	DOLLY, TANDEM MANUFACTURER: RUBBERMAID #FG264600BLA	1	\$ 236.60	\$ 236.60	\$ 194.91	\$ 194.91
EACH	246	TROLLEY, TRIPLE STANDARD DUTY MANUFACTURER: RUBBERMAID #FG440100	2	\$ 194.99	\$ 389.98	\$ 201.70	\$ 403.40
EACH	247	LADDER, MOBILE 3 STEPS STOCKROOM MANUFACTURER BALLYMORE #H318	1	\$ 295.09	\$ 295.09	\$ 288.00	\$ 288.00
EACH	248	UTILITY CART, 15" x 24", SMALL MANUFACTURER: LAKESIDE #711	3	\$ 80.59	\$ 241.77	\$ 926.10	\$ 2,778.30
EACH	249	UTILITY CART, 18" x 27", MEDIUM MANUFACTURER: LAKESIDE #722	2	\$ 255.44	\$ 510.88	\$ 910.44	\$ 1,820.88
EACH	250	UTILITY CART, 21" x 33", LARGE, <b>MANUFACTURER: LAKESIDE #544</b>	3	\$ 1,398.80	\$ 4,196.40	\$ 1,090.00	\$ 3,270.00
EACH	251	BOWL ONLY, 13 QT MANUFACTURER: VOLLRATH #69130	1	\$ 7.14	\$ 7.14	\$ 38.56	\$ 38.56
EACH	252	BOWL SET INCLUDES STAND FOR 30 QT MANUFACTURER: VOLLRATH #79302	1	\$ 155.99	\$ 155.99	\$ 1,053.81	\$ 1,053.81
EACH	253	BOWL ONLY, 30 QT. MANUFACTURER: VOLLRATH #79300	1	\$ 27.94	\$ 27.94	\$ 183.20	\$ 183.20
EACH	254	BOWL STAND ONLY FOR 30 QT BOWL #79300 MANUFACTURER: VOLLRATH #79002	1	\$ 125.44	\$ 125.44	\$ 870.61	\$ 870.61
EACH	255	BOWL SET INCLUDES STAND FOR 80 QT MANUFACTURER: VOLLRATH #79818	1	\$ 1,707.94	\$ 1,707.94	\$ 1,776.95	\$ 1,776.95
EACH	256	BOWL ONLY, 80 QT MANUFACTURER: VOLLRATH #79800	1	\$ 526.49	\$ 526.49	\$ 452.64	\$ 452.64

				11400 Inc. 2551 Horseshoe Road Lancaster, PA 17601		Manning Brothers Food Equipment 210 Sandy Creek Road Athens, GA 30607	
UNIT	ITEM #	DESCRIPTION	EST. USAGE	UNIT COST	EXTENDED PRICING	UNIT COST	EXTENDED PRICING
<b>LOT "K" - MISCELLANEOUS</b>							
BOX	257	DISPOSABLE MASKS MANUFACTURER: COMMERCIAL #FP142-1548 (PLEASE QUOTE FOR PACK OF 50)	5	\$ 2.07	\$ 10.35	\$ 2.24	\$ 11.20
EACH	258	FIRST AID KIT 173 PIECES MANUFACTURER: SERVICE IDEAS #1124SI	1	\$ 406.24	\$ 406.24	\$ 54.32	\$ 54.32
BOX	259	FIRST AID SUPPLIES: ALCOHOL WIPES MANUFACTURER: FMP #280-1540	24	\$ 9.09	\$ 218.16	\$ 2.44	\$ 58.56
BOX	260	FIRST AID SUPPLIES: BANDAGES, ADHESIVE PLASTIC, 1" x 3" MANUFACTURER: FMP #280-1537	12	\$ 7.79	\$ 93.48	\$ 9.68	\$ 116.16
BOX	261	FIRST AID SUPPLIES: CLOTH TAPE, MANUFACTURER: DYNAREX #DYN3561	1	\$ 2.85	\$ 2.85	\$ 15.60	\$ 15.60
EACH	262	FIRST AID SUPPLIES: CREAM FOR BURNS, 0.9 G EACH MANUFACTURER: WATTER JEL #WJFA1728	1	\$ 20.14	\$ 20.14	\$ 33.60	\$ 33.60
EACH	263	ORGANIZER, 5 BIN PORTION PAK FOR COUNTER TOP, SERVER MANUFACTURER: SERVER #85140	1	\$ 84.49	\$ 84.49	\$ 245.70	\$ 245.70
BOX	264	FIRST AID SUPPLIES: GAUZE PAD MANUFACTURER: KENDALL #KND1806	1	\$ 12.86	\$ 12.86	\$ 7.62	\$ 7.62
EACH	265	FAN, WALL MOUNT 18", 3 BLADE MANUFACTURER: COMMERCIAL #PATTON B-18	2	\$ 129.99	\$ 259.98	\$ 241.80	\$ 483.60
EACH	266	TIMER, MECHANICAL MANUFACTURER: COOPER #TM6008	2	\$ 9.09	\$ 18.18	\$ 12.76	\$ 25.52
EACH	267	MAT, GREASE RESISTANT, TEK-TOUGH JR, BLACK, 3' x 5' MANUFACTURER: WINCO #RBM-35K-R	11	\$ 36.39	\$ 400.29	\$ 92.74	\$ 1,020.14
EACH	268	TOOL, LID OFF MANUFACTURER: UPDATE #PO-8P	2	\$ 4.93	\$ 9.86	\$ 27.13	\$ 54.26
EACH	269	LABELS, FOOD ROTATION, ADHESIVE & DISSOLVABLE 2" x 3", 250 PER ROLL MANUFACTURER: CAMBRO #23SLB250	6	\$ 11.69	\$ 70.14	\$ 14.81	\$ 88.86
EACH	270	HOOKS, DOUBLE POT MANUFACTURER: FMP #280-1086	1	NO BID	\$ -	\$ 1.48	\$ 1.48
EACH	271	RAPI-KOOL, 64 OZ MANUFACTURER: COMMERCIAL #RCU64	1	\$ 40.29	\$ 40.29	\$ 34.22	\$ 34.22
EACH	272	SPRAYER, TRIGGER/BOTTLE 24 OUNCES MANUFACTURER: CONTINENTAL COMMERCIAL #902-3RW	14	\$ 5.19	\$ 72.66	\$ 34.58	\$ 484.12
EACH	273	SADDLE BAGS, STAINLESS STEEL DISPENSER 9 X 6 X 12 MANUFACTURER: COMMERCIAL \$M18	1	\$ 16.89	\$ 16.89	\$ 39.60	\$ 39.60
EACH	274	TRUCK, HAND, PIN HANDLE W/CONTINUOUS FRAME, CAPC. 800# MANUFACTURER: KELMAX #46T77	2	\$ 311.99	\$ 623.98	\$ 252.22	\$ 504.44
EACH	275	LUBRICANT FOR EQUIPMENT MANUFACTURER: JOHNSON ROSE #6099	1	\$ 85.79	\$ 85.79	\$ 8.44	\$ 8.44
EACH	276	TOILET BRUSH MANUFACTURER: RUBBERMAID #6310	17	\$ 3.63	\$ 61.71	\$ 3.10	\$ 52.70
EACH	277	TOILET BRUSH HOLDER MANUFACTURER: RUBBERMAID #6311	17	\$ 3.24	\$ 55.08	\$ 3.10	\$ 52.70
<b>TOTAL ALL ITEMS IN ALL LOTS</b>				<b>\$ 19,351.73</b>	<b>\$ 54,683.14</b>	<b>\$ 20,237.89</b>	<b>\$ 67,034.57</b>

				Norvell Fixture & Equipment Co., Inc. P.O. Box 14838 Augusta, GA 30919		Pueblo Hotel Supply dba Gradys 170 Greenhorn Drive Pueblo, CO 81004	
UNIT	ITEM #	DESCRIPTION	EST. USAGE	UNIT COST	EXTENDED PRICING	UNIT COST	EXTENDED PRICING
<b>LOT "A" - CONTAINERS, DISPENSERS, ICE CHESTS, RACKS, SCOOPS AND TRAYS</b>							
EACH	1	DISPENSER, SQUEEZE BOTTLE 16 OZ: CLEAR MANUFACTURER: TABLECRAFT #11663C	10	\$ 1.55	\$ 15.50	\$ 1.41	\$ 14.10
EACH	2	DISPENSER SPIGOT, RUBBERMAID FOR 3 GAL BEVERAGE CONTAINER MANUFACTURER: RUBBERMAID #RUB3358-L6	6	\$ 37.94	\$ 227.64	\$ 34.21	\$ 205.26
EACH	3	DISPENSER SPIGOT, CARLISLE FOR 3 GAL BEVERAGE CONTAINER MANUFACTURER: CARLISLE #221203	2	\$ 12.35	\$ 24.70	\$ 14.14	\$ 28.28
EACH	4	DISPENSER, BEVERAGE 3 GALLON MANUFACTURER: TABLECRAFT #353DP	2	\$ 46.52	\$ 93.04	\$ 45.28	\$ 90.56
EACH	5	DISPENSER, BEVERAGE 3 GALLON TRIMLINE MANUFACTURER: CARLISLE #10852203	1	\$ 97.47	\$ 97.47	\$ 87.05	\$ 87.05
EACH	6	PITCHER, CLEAR, 64 OZ. W/COVER MANUFACTURER: CAMWEAR #PC64CW	19	\$ 13.64	\$ 259.16	\$ 17.28	\$ 328.32
EACH	7	FOOD CONTAINER, 2 QT, TRANSLUSCENT POLYETHYLENE MANUFACTURER: CAMBRO #RFS2148	8	\$ 3.31	\$ 26.48	\$ 4.74	\$ 37.92
EACH	8	FOOD CONTAINER, 4 QT, TRANSLUSCENT POLYETHYLENE MANUFACTURER: CAMBRO #RFS4148	9	\$ 3.77	\$ 33.93	\$ 5.45	\$ 49.05
EACH	9	FOOD CONTAINER, 6 QT, TRANSLUSCENT POLYETHYLENE MANUFACTURER: CAMBRO #RFS6148	5	\$ 4.67	\$ 23.35	\$ 7.14	\$ 35.70
EACH	10	FOOD CONTAINER, 12 QT, TRANSLUSCENT POLYETHYLENE MANUFACTURER: CAMBRO #RFS12148	1	\$ 10.96	\$ 10.96	\$ 14.91	\$ 14.91
EACH	11	FOOD CONTAINER, 18 QT, TRANSLUSCENT POLYETHYLENE MANUFACTURER: CAMBRO #RFS18148	1	\$ 13.29	\$ 13.29	\$ 18.63	\$ 18.63
EACH	12	FOOD CONTAINER, 22 QT, TRANSLUSCENT POLYETHYLENE MANUFACTURER: CAMBRO #RFS22148	1	\$ 15.64	\$ 15.64	\$ 23.08	\$ 23.08
EACH	13	FOOD CONTAINER COVER, SNAP ON, POLYETHYLENE LID FOR 2 AND 4 QT MANUFACTURER: CAMBRO #RFSC2148	19	\$ 1.04	\$ 19.76	\$ 1.14	\$ 21.66
EACH	14	FOOD CONTAINER COVER, SNAP ON, POLYETHYLENE LID FOR 6 QT MANUFACTURER: CAMBRO #RFSC6148	3	\$ 1.53	\$ 4.59	\$ 1.68	\$ 5.04
EACH	15	FOOD CONTAINER COVER, SNAP ON, POLYETHYLENE LID FOR 12, 18 & 22 QT MANUFACTURER: CAMBRO #RFSC12148	5	\$ 3.61	\$ 18.05	\$ 5.54	\$ 27.70
EACH	16	FOOD CONTAINER, 2 QT, POLYCARBONATE, CLEAR MANUFACTURER: CAMBRO #RFSCW2	1	\$ 6.23	\$ 6.23	\$ 7.17	\$ 7.17
EACH	17	FOOD CONTAINER, 4 QT, POLYCARBONATE, CLEAR MANUFACTURER: CAMBRO #RFSCW4	4	\$ 10.47	\$ 41.88	\$ 10.91	\$ 43.64
EACH	18	CAMSHELVING ULTIMATE SHEET PAN RACK, PLASTIC, FULLY ASSEMBLED MANUFACTURER: CAMBRO UPR1826FPA20	5	\$ 819.00	\$ 4,095.00	\$ 971.30	\$ 4,856.50
EACH	19	CAMSHELVING ULTIMATE SHEET PAN RACK FOR SINGLE SELF MANUFACTURER: CAMBRO CSUPR1826S6	5	\$ 143.37	\$ 716.85	\$ 177.50	\$ 887.50
EACH	20	CAMSHELVING ULTIMATE SHEET PAN RACK COVER, VINYL MANUFACTURER: CAMBRO GBCTUPR	5	\$ 123.93	\$ 619.65	\$ 120.90	\$ 604.50

Norvell Fixture & Equipment Co., Inc. P.O. Box 14838 Augusta, GA 30919	Pueblo Hotel Supply dba Gradys 170 Greenhorn Drive Pueblo, CO 81004
--	---

UNIT	ITEM #	DESCRIPTION	EST. USAGE	UNIT COST	EXTENDED PRICING	UNIT COST	EXTENDED PRICING
<b>LOT "A" - CONTAINERS, DISPENSERS, ICE CHESTS, RACKS, SCOOPS AND TRAYS (CONTINUED)</b>							
EACH	21	FOOD CONTAINER, 8 QT, POLYCARBONATE, CLEAR MANUFACTURER: CAMBRO #RFSCW8	1	\$ 15.56	\$ 15.56	\$ 16.33	\$ 16.33
EACH	22	FOOD CONTAINER, 12 QT, POLYCARBONATE, CLEAR MANUFACTURER: CAMBRO #RFSCW12	4	\$ 21.98	\$ 87.92	\$ 27.83	\$ 111.32
EACH	23	FOOD CONTAINER, 18 QT, POLYCARBONATE, CLEAR MANUFACTURER: CAMBRO #RFSCW18	1	\$ 30.21	\$ 30.21	\$ 38.19	\$ 38.19
EACH	24	FOOD CONTAINER, 22 QT, POLYCARBONATE, CLEAR MANUFACTURER: CAMBRO #RFSCW22	3	\$ 34.72	\$ 104.16	\$ 44.31	\$ 132.93
EACH	25	FOOD CONTAINER COVER, FITS 2 & 4 QT, POLYCARBONATE, CLEAR, MANUFACTURER: CAMBRO #RFSCWC2135	16	\$ 2.95	\$ 47.20	\$ 2.99	\$ 47.84
EACH	26	FOOD CONTAINER COVER, FITS 6 & 8 QT, POLYCARBONATE, CLEAR MANUFACTURER: CAMBRO #RFSCWC6135	8	\$ 3.66	\$ 29.28	\$ 3.79	\$ 30.32
EACH	27	FOOD CONTAINER COVER, FITS 12, 18 & 22 QT, POLYCARBONATE, CLEAR MANUFACTURER: CAMBRO #RFSCWC12135	5	\$ 8.39	\$ 41.95	\$ 9.48	\$ 47.40
EACH	28	FOOD/TOTE BOX, 6" DEEP 12" X 18" MANUFACTURER: CAMBRO #12186CW135	3	\$ 19.42	\$ 58.26	\$ 23.55	\$ 70.65
EACH	29	FOOD/TOTE BOX FLAT LID, 12" X 18" MANUFACTURER: CAMBRO #1218CCW135	3	\$ 9.48	\$ 28.44	\$ 10.35	\$ 31.05
EACH	30	INGREDIENT BIN W/LID 29" X 13" MANUFACTURER: CAMBRO #IBS27148	1	\$ 309.83	\$ 309.83	\$ 336.51	\$ 336.51
SET	31	INGREDIENT BIN - SLIDING LIDS FRONT & BACK FITS IBS27 MANUFACTURER: CAMBRO #6027/60271 (PLEASE QUOTE A SET PRICE FOR BOTH FRONT AND BACK MODELS)	4	\$ 39.06	\$ 156.24	NO BID	\$ -
EACH	32	INGREDIENT BIN - FLAT SLIDING LID FITS IB27 MANUFACTURER: CAMBRO #IB27LIDCW	1	\$ 33.13	\$ 33.13	NO BID	\$ -
EACH	33	INGREDIENT BIN - FLAT SLIDING LIDS FITS IB27 MANUFACTURER: CAMBRO #IB27LIDCW135	2	\$ 33.13	\$ 66.26	NO BID	\$ -
EACH	34	ICE SCOOP ONLY, 6 OZ, POLYCARBONATE MANUFACTURER: CAL MIL #1029-6	7	\$ 8.09	\$ 56.63	\$ 8.81	\$ 61.67
EACH	35	ICE SCOOP HOLDER, WALL MOUNT W/SCOOP & DRIP TRAY, 64 OZ MANUFACTURER: CAL MIL #793	1	\$ 149.55	\$ 149.55	\$ 138.63	\$ 138.63
EACH	36	ICE SCOOP ONLY, 64 OZ, POLYCARBONATE MANUFACTURER: CAL MIL #1029-64	3	\$ 17.49	\$ 52.47	\$ 17.78	\$ 53.34
EACH	37	ICE CHEST, 24 QT, BLUE MANUFACTURER: RUBBERMAID #RUBC24QUART	5	\$ 70.00	\$ 350.00	NO BID	\$ -
DOZEN	38	TRAY, CAMWEAR, 6 COMPARTMENT, NAVY BLUE, 9" x 15" MANUFACTURER: CAMBRO #1596CW186 (PLEASE QUOTE PER DOZEN PRICE)	1	\$ 104.28	\$ 104.28	\$ 122.72	\$ 122.72

				Norvell Fixture & Equipment Co., Inc. P.O. Box 14838 Augusta, GA 30919		Pueblo Hotel Supply dba Gradys 170 Greenhorn Drive Pueblo, CO 81004	
UNIT	ITEM #	DESCRIPTION	EST. USAGE	UNIT COST	EXTENDED PRICING	UNIT COST	EXTENDED PRICING
<b>LOT "A" - CONTAINERS, DISPENSERS, ICE CHESTS, RACKS, SCOOPS AND TRAYS (CONTINUED)</b>							
DOZEN	39	TRAY, CAMWEAR, 6 COMPARTMENT TRAY, SHERWOOD GREEN, 9 X 15 MANUFACTURER: CAMBRO #1596CW119 (PLEASE QUOTE PER DOZEN PRICE)	1	\$ 104.28	\$ 104.28	\$ 122.72	\$ 122.72
DOZEN	40	TRAY, CAMWEAR, 6 COMPARTMENT TRAY, RED, 9 X 15 MANUFACTURER: CAMBRO #159CW404 (PLEASE QUOTE PER DOZEN PRICE)	1	\$ 104.28	\$ 104.28	\$ 122.72	\$ 122.72
EACH	41	TRAY, FAST FOOD, FULL SIZE SHEET, BLACK, 14" X 18" MANUFACTURER: CAMBRO #1418FF110	4	\$ 4.61	\$ 18.44	\$ 66.36	\$ 265.44
EACH	42	TRAY, FAST FOOD, FULL SIZE SHEET, SHERWOOD GREEN, 14" X 18" MANUFACTURER: CAMBRO #1418FF119	2	\$ 4.61	\$ 9.22	\$ 66.36	\$ 132.72
EACH	43	TRAY, FAST FOOD, FULL SIZE SHEET, RED, 14" X 18" MANUFACTURER: CAMBRO #1418FF163	5	\$ 4.61	\$ 23.05	\$ 66.36	\$ 331.80
EACH	44	TRAY, FAST FOOD, FULL SIZE SHEET, ORANGE, 14" X 18" MANUFACTURER: CAMBRO #1418FF166	4	\$ 4.61	\$ 18.44	\$ 66.36	\$ 265.44
EACH	45	TRAY, FIBERGLASS, CAFETERIA FOR SELF SERVICE, 18" x 26", BLACK MANUFACTURER: CAMBRO #1826CL110	11	\$ 24.76	\$ 272.36	\$ 25.27	\$ 277.97
EACH	46	TRAY, FIBERGLASS, CAFETERIA FOR SELF SERVICE, 18" x 26", GREEN MANUFACTURER: CAMBRO #1826CL162	1	\$ 24.76	\$ 24.76	\$ 25.27	\$ 25.27
EACH	47	TRAY, FIBERGLASS, CAFETERIA FOR SELF SERVICE, 18" x 26", RED MANUFACTURER: CAMBRO #1826CL163	1	\$ 24.76	\$ 24.76	\$ 25.27	\$ 25.27
EACH	48	TRAY, FIBERGLASS, CAFETERIA FOR SELF SERVICE, 18" x 26", YELLOW MANUFACTURER: CAMBRO #1826CL145	1	\$ 24.76	\$ 24.76	\$ 25.27	\$ 25.27
EACH	49	RACK, DW, PLATE AND TRAY 19 3/4" MANUFACTURER: VOLLRATH #TR-14	1	\$ 29.16	\$ 29.16	\$ 26.35	\$ 26.35
EACH	50	RACK, DW, FLATWARE, ALL PURPOSE 19 3/4" MANUFACTURER: VOLLRATH #TR2	1	\$ 28.49	\$ 28.49	\$ 25.75	\$ 25.75
EACH	51	RACK, DW, TRAY AND PAN 19 3/4" MANUFACTURER: VOLLRATH #TR30	1	\$ 43.44	\$ 43.44	\$ 39.25	\$ 39.25
EACH	52	RACK, PROFESSIONAL BOARD AND BRUSH MANUFACTURER: WINCO CB-6K	1	\$ 15.75	\$ 15.75	NO BID	\$ -
EACH	53	RACKS FOR DRYING SHEET PANS ONLY, WITH 3" SPACING MANUFACTURER: METRO #MTR2448XEA	1	\$ 113.50	\$ 113.50	\$ 106.24	\$ 106.24
EACH	54	RACKS FOR DRYING SHEET PANS ONLY, WITH 1 1/8" SPACING MANUFACTURER: METRO #MTR2448XE	1	\$ 113.50	\$ 113.50	\$ 111.10	\$ 111.10
EACH	55	RACK FOR CANS, MOBILE, HOLDS 162 #10 CANS MANUFACTURER: WINHOLT #CR162M	1	\$ 1,109.00	\$ 1,109.00	\$ 818.35	\$ 818.35
EACH	56	RACK, PAN, MOBILE XTR HEAVY DUTY, ALUMINUM, 21" x 26" x 69, 20 TRAYS CAPACITY (18" x 26" SHEET PANS), 3" DEPTH MANUFACTURER: METRO #RD3N	5	\$ 967.95	\$ 4,839.75	\$ 961.74	\$ 4,808.70
EACH	57	RACK COVER W/ZIPPER CLOSURE, COVERALL CLEAR, 22" x 28" x 64" MANUFACTURER: KELMAX #4K0192	13	\$ 40.00	\$ 520.00	\$ 38.02	\$ 494.26
EACH	58	RACK COVER CUSTOM TRAY RACK 4 ZIPPER, 22.75"W x 28.25"D x 32.75"H MANUFACTURER: KELMAX #4K0187	6	\$ 24.00	\$ 144.00	\$ 23.35	\$ 140.10

Norvell Fixture & Equipment Co., Inc. P.O. Box 14838 Augusta, GA 30919	Pueblo Hotel Supply dba Gradys 170 Greenhorn Drive Pueblo, CO 81004
--	---

UNIT	ITEM #	DESCRIPTION	EST. USAGE	UNIT COST	EXTENDED PRICING	UNIT COST	EXTENDED PRICING
<b>LOT "B" - THERMOMETERS</b>							
EACH	59	THERMOMETER, DIGITAL, WATERPROOF MANUFACTURER: COOPER ATKINS #DFP450W-0-8	100	\$ 33.72	\$ 3,372.00	\$ 30.54	\$ 3,054.00
EACH	60	THERMOMETER, BI-THERM MANUFACTURER: TAYLOR #6072-1	2	\$ 10.63	\$ 21.26	\$ 11.15	\$ 22.30
EACH	61	THERMOMETER, INDOOR/OUTDOOR STORAGE, WALL MANUFACTURER: TAYLOR #1105J	1	\$ 16.71	\$ 16.71	\$ 24.01	\$ 24.01
EACH	62	THERMOMETER, REFRIGERATOR/FREEZER MANUFACTURER: COOPER #335011	91	\$ 5.79	\$ 526.89	\$ 5.29	\$ 481.39
EACH	63	THERMOMETER, OVEN GUIDE MANUFACTURER: COOPER #24HP011	9	\$ 6.90	\$ 62.10	\$ 6.32	\$ 56.88
EACH	64	THERMOMETER, HOT HOLDING MANUFACTURER: COOPER #26HP011	8	\$ 6.90	\$ 55.20	\$ 6.23	\$ 49.84
EACH	65	THERMOMETER, BATTERY REPLACEMENT FOR PDT300 MANUFACTURER: COMARK #AB13	2	\$ 6.00	\$ 12.00	NO BID	\$ -
<b>LOT "C" - PANS, POTS, COVERS</b>							
EACH	66	SAUCE PAN, 1 1/2 QT MANUFACTURER: VOLLRATH #434112	1	\$ 27.46	\$ 27.46	\$ 30.91	\$ 30.91
EACH	67	SAUCE PAN COVER, 1 1/2 QT MANUFACTURER: VOLLRATH #67411	1	\$ 18.65	\$ 18.65	\$ 16.85	\$ 16.85
EACH	68	SAUCE POT, 20 QT MANUFACTURER: VOLLRATH #4333	1	\$ 132.74	\$ 132.74	\$ 126.06	\$ 126.06
EACH	69	SAUCE POT COVER, 20 QT MANUFACTURER: VOLLRATH #67533	1	\$ 25.45	\$ 25.45	\$ 23.00	\$ 23.00
EACH	70	SHEET PAN, PROFESSIONAL, PERFORATED, FULL SIZE MANUFACTURER: VOLLRATH #9002P	15	\$ 28.80	\$ 432.00	\$ 26.43	\$ 396.45
EACH	71	SHEET PAN, PROFESSIONAL, BUN PAN, FULL SIZE 18" x 26" MANUFACTURER: VOLLRATH #5315	55	\$ 46.17	\$ 2,539.35	\$ 41.83	\$ 2,300.65
EACH	72	SHEET PAN, ADAPTER PLATE FOR SERVING LINE MANUFACTURER: VOLLRATH #19199	1	\$ 289.96	\$ 289.96	\$ 262.04	\$ 262.04
EACH	73	SHEET PAN, PROFESSIONAL, BUN PAN, HALF SIZE 18" x 13" MANUFACTURER: VOLLRATH #5314	1	\$ 27.88	\$ 27.88	\$ 31.30	\$ 31.30
EACH	74	BAKE AND ROAST, CAKE PAN, 2 1/4" MANUFACTURER: VOLLRATH #68357	1	\$ 71.50	\$ 71.50	\$ 64.62	\$ 64.62
EACH	75	COLANDER, 16 QT MANUFACTURER: VOLLRATH #68350	1	\$ 46.00	\$ 46.00	\$ 140.93	\$ 140.93
EACH	76	STRAINER, SPAGHETTI, 5 QT MANUFACTURER: VOLLRATH #4605	1	\$ 68.59	\$ 68.59	\$ 61.98	\$ 61.98
EACH	77	DIPPER W/POURING LIP, 64 OZ MANUFACTURER: VOLLRATH #5332	1	\$ 110.50	\$ 110.50	\$ 99.86	\$ 99.86

Norvell Fixture & Equipment Co., Inc. P.O. Box 14838 Augusta, GA 30919	Pueblo Hotel Supply dba Gradys 170 Greenhorn Drive Pueblo, CO 81004
--	---

UNIT	ITEM #	DESCRIPTION	EST. USAGE	UNIT COST	EXTENDED PRICING	UNIT COST	EXTENDED PRICING
<b>LOT "C" - PANS, POTS, COVERS (CONTINUED)</b>							
EACH	78	STEAM TABLE PAN, FULL SIZE, 2 1/2" MANUFACTURER: VOLLRATH #30022	8	\$ 30.01	\$ 240.08	\$ 27.88	\$ 223.04
EACH	79	STEAM TABLE PAN, HALF SIZE, 2 1/2" DEEP MANUFACTURER: VOLLRATH #30222	2	\$ 18.65	\$ 37.30	\$ 19.90	\$ 39.80
EACH	80	STEAM TABLE PAN, FULL SIZE, 2 1/2", PERFORATED MANUFACTURER: VOLLRATH #30023	1	\$ 52.97	\$ 52.97	\$ 53.97	\$ 53.97
EACH	81	STEAM TABLE PAN, FULL SIZE, 4" MANUFACTURER: VOLLRATH #30042	6	\$ 40.28	\$ 241.68	\$ 37.42	\$ 224.52
EACH	82	STEAM TABLE PAN, HALF SIZE, 4" MANUFACTURER: VOLLRATH #30242	5	\$ 26.73	\$ 133.65	\$ 25.38	\$ 126.90
EACH	83	STEAM TABLE PAN, FULL SIZE, 4" MANUFACTURER: VOLLRATH #30043	5	\$ 66.28	\$ 331.40	\$ 61.12	\$ 305.60
EACH	84	STEAM TABLE PAN COVER, FULL SIZE, FLAT SOLID, S/S MANUFACTURER: VOLLRATH #77250	5	\$ 38.03	\$ 190.15	\$ 35.59	\$ 177.95
EACH	85	STEAM TABLE PAN COVER, HALF SIZE, FLAT SOLID, S/S MANUFACTURER: VOLLRATH #75120	4	\$ 18.41	\$ 73.64	\$ 18.16	\$ 72.64
EACH	86	FALSE BOTTOM, FULL SIZE, PERFORATED, S/S MANUFACTURER: VOLLRATH #20000	4	\$ 42.65	\$ 170.60	\$ 40.07	\$ 160.28
EACH	87	FALSE BOTTOM, HALF SIZE, PERFORATED, S/S MANUFACTURER: VOLLRATH #20200	1	\$ 24.00	\$ 24.00	\$ 27.79	\$ 27.79
EACH	88	H-PAN, FULL SIZE, 2 1/2" DEEP, BLACK MANUFACTURER: CAMBRO #12HP771	1	\$ 38.21	\$ 38.21	\$ 54.03	\$ 54.03
EACH	89	H-PAN, FULL SIZE, 4" DEEP, BLACK MANUFACTURER: CAMBRO #14HP771	3	\$ 46.22	\$ 138.66	\$ 59.84	\$ 179.52
EACH	90	H-PAN, HALF SIZE, 2 1/2" DEEP, BLACK MANUFACTURER: CAMBRO #22HP110	1	\$ 19.03	\$ 19.03	\$ 31.30	\$ 31.30
EACH	91	H-PAN, HALF SIZE, 4" DEEP, BLACK MANUFACTURER: CAMBRO #24HP771	1	\$ 24.71	\$ 24.71	\$ 36.79	\$ 36.79
EACH	92	H-PAN, 2 1/2" DEEP, LONG, BLACK MANUFACTURER: CAMBRO #22LPHP110	1	\$ 27.11	\$ 27.11	\$ 38.21	\$ 38.21
EACH	93	H-PAN, 4" DEEP, LONG BLACK MANUFACTURER: CAMBRO #24LPHP771	1	\$ 33.82	\$ 33.82	\$ 46.74	\$ 46.74

Norvell Fixture & Equipment Co., Inc. P.O. Box 14838 Augusta, GA 30919	Pueblo Hotel Supply dba Gradys 170 Greenhorn Drive Pueblo, CO 81004
--	---

UNIT	ITEM #	DESCRIPTION	EST. USAGE	UNIT COST	EXTENDED PRICING	UNIT COST	EXTENDED PRICING
<b>LOT "C" - PANS, POTS, COVERS (CONTINUED)</b>							
EACH	94	H-PAN, FLAT COVER, FULL SIZE MANUFACTURER: CAMBRO #10HPC150	1	\$ 34.34	\$ 34.34	\$ 45.90	\$ 45.90
EACH	95	H-PAN, FLAT COVER, HALF SIZE MANUFACTURER: CAMBRO #20HPC150	1	\$ 14.90	\$ 14.90	\$ 26.28	\$ 26.28
EACH	96	H-PAN, FLAT COVER W/HANDLE, FULL SIZE MANUFACTURER: CAMBRO #10HPCH150	4	\$ 34.34	\$ 137.36	\$ 36.49	\$ 145.96
EACH	97	H-PAN COVER W/HANDLE, HALF SIZE MANUFACTURER: CAMBRO #20HPCH150	1	\$ 15.80	\$ 15.80	\$ 27.68	\$ 27.68
EACH	98	H-PAN, NOTCHED WITH HANDLE, FULL SIZE MANUFACTURER: CAMBRO #10HPCHN150	1	\$ 34.34	\$ 34.34	\$ 45.57	\$ 45.57
EACH	99	H-PAN, NOTCHED COVER WITH HANDLE, HALF SIZE MANUFACTURER: CAMBRO #20HPCHN150	1	\$ 18.10	\$ 18.10	\$ 29.81	\$ 29.81
EACH	100	H-PAN, NOTCHED FLIP COVER MANUFACTURER: CAMBRO #20HPLN150	6	\$ 26.34	\$ 158.04	\$ 24.93	\$ 149.58
<b>LOT "D" - DISHERS, SPOODLES, SPOONS, LADLES &amp; TONGS</b>							
EACH	101	DISHER, #6, 5.3 OZ MANUFACTURER: VOLLRATH #47139	15	\$ 13.85	\$ 207.75	\$ 12.52	\$ 187.80
EACH	102	DISHER, #8, 4 OZ MANUFACTURER: VOLLRATH #47140	12	\$ 13.85	\$ 166.20	\$ 12.52	\$ 150.24
EACH	103	DISHER, #10, 3.25 OZ MANUFACTURER: VOLLRATH #47141	8	\$ 13.85	\$ 110.80	\$ 12.52	\$ 100.16
EACH	104	DISHER, #12, 2.6 OZ MANUFACTURER: VOLLRATH #47142	8	\$ 13.85	\$ 110.80	\$ 12.52	\$ 100.16
EACH	105	DISHER, #16, 2.0 OZ MANUFACTURER: VOLLRATH #47143	5	\$ 13.85	\$ 69.25	\$ 12.52	\$ 62.60
EACH	106	DISHER, #20, 1.6 OZ MANUFACTURER: VOLLRATH #47144	2	\$ 13.85	\$ 27.70	\$ 12.52	\$ 25.04
EACH	107	DISHER, #24, 1.3 OZ MANUFACTURER: VOLLRATH #47145	3	\$ 13.85	\$ 41.55	\$ 12.52	\$ 37.56
EACH	108	DISHER, #8, LEFT HANDED MANUFACTURER: VOLLRATH #47150	8	\$ 16.65	\$ 133.20	\$ 15.04	\$ 120.32
EACH	109	DISHER, #10, 3.75 OZ, LEFT HANDED MANUFACTURER: VOLLRATH #47151	1	\$ 16.65	\$ 16.65	\$ 15.04	\$ 15.04
EACH	110	DISHER, #12, 3.25 OZ, LEFT HANDED, SQUEEZE HANDLE MANUFACTURER: VOLLRATH #47152	1	\$ 16.65	\$ 16.65	\$ 15.04	\$ 15.04
EACH	111	DISHER, #16, 2 OZ, LEFT HANDED MANUFACTURER: VOLLRATH #47153	1	\$ 16.65	\$ 16.65	\$ 15.04	\$ 15.04

Norvell Fixture & Equipment Co., Inc. P.O. Box 14838 Augusta, GA 30919	Pueblo Hotel Supply dba Gradys 170 Greenhorn Drive Pueblo, CO 81004
--	---

UNIT	ITEM #	DESCRIPTION	EST. USAGE	UNIT COST	EXTENDED PRICING	UNIT COST	EXTENDED PRICING
<b>LOT "D" - DISHERS, SPOODLES, SPOONS, LADLES &amp; TONGS (CONTINUED)</b>							
EACH	112	SPOODLE, SOLID GRAY, OVAL 4 OZ MANUFACTURER: VOLLRATH #6412445	1	\$ 13.61	\$ 13.61	\$ 12.30	\$ 12.30
EACH	113	SPOODLE, SOLID BLACK, OVAL, 5 OZ MANUFACTURER: VOLLRATH #6412520	1	\$ 13.97	\$ 13.97	\$ 12.63	\$ 12.63
EACH	114	SPOODLE, SOLID OVAL, TEAL, 6 OZ MANUFACTURER: VOLLRATH #6412655	1	\$ 14.15	\$ 14.15	\$ 12.79	\$ 12.79
EACH	115	SPOODLE, SOLID OVAL, ORANGE, 8 OZ MANUFACTURER: VOLLRATH #6412865	1	\$ 14.52	\$ 14.52	\$ 13.12	\$ 13.12
EACH	116	SPOODLE, PERFORATED, OVAL, GRAY, 4 OZ MANUFACTURER: VOLLRATH #6422445	1	\$ 13.61	\$ 13.61	\$ 12.30	\$ 12.30
EACH	117	SPOODLE, PERFORATED, OVAL, BLACK, 5 OZ MANUFACTURER: VOLLRATH #6422520	1	\$ 13.97	\$ 13.97	\$ 12.63	\$ 12.63
EACH	118	SPOODLE, PERFORATED, OVAL, TEAL, 6 OZ MANUFACTURER: VOLLRATH #6422655	1	\$ 14.15	\$ 14.15	\$ 12.79	\$ 12.79
EACH	119	SPOONS, SOLID 15" MANUFACTURER: VOLLRATH #46981	5	\$ 4.50	\$ 22.50	\$ 3.79	\$ 18.95
EACH	120	SPOONS, PERFORATED 15" MANUFACTURER: VOLLRATH #46983	1	\$ 4.50	\$ 4.50	\$ 3.79	\$ 3.79
EACH	121	SPOONS, SOLID 21" MANUFACTURER: VOLLRATH #46995	1	\$ 7.50	\$ 7.50	\$ 6.09	\$ 6.09
EACH	122	LADLE, 4 OZ, MANUFACTURER: VOLLRATH #58440	1	\$ 15.55	\$ 15.55	\$ 9.97	\$ 9.97
EACH	123	LADLE, 6 OZ MANUFACTURER: VOLLRATH #58460	1	\$ 16.28	\$ 16.28	\$ 14.71	\$ 14.71
EACH	124	LADLE, 8 OZ MANUFACTURER: VOLLRATH #58480	1	\$ 18.29	\$ 18.29	\$ 11.74	\$ 11.74
EACH	125	TONGS, SCALLOP GRIP, 9" MANUFACTURER: CAMBRO #9TGS110	8	\$ 3.00	\$ 24.00	\$ 4.47	\$ 35.76
EACH	126	TONGS, SCALLOP GRIP, 12" MANUFACTURER: CAMBRO #12TGS110	4	\$ 5.50	\$ 22.00	\$ 7.41	\$ 29.64
EACH	127	TONGS, HEAVY DUTY LOCKING, 9" MANUFACTURER: EDLUND #4409HDL	3	\$ 3.50	\$ 10.50	\$ 105.63	\$ 316.89
EACH	128	TONGS, HEAVY DUTY LOCKING, 12" MANUFACTURER: EDLUND #4412HDL	6	\$ 4.50	\$ 27.00	\$ 9.64	\$ 57.84

Norvell Fixture & Equipment Co., Inc. P.O. Box 14838 Augusta, GA 30919	Pueblo Hotel Supply dba Gradys 170 Greenhorn Drive Pueblo, CO 81004
--	---

UNIT	ITEM #	DESCRIPTION	EST. USAGE	UNIT COST	EXTENDED PRICING	UNIT COST	EXTENDED PRICING
<b>LOT "E" - KNIVES, BLADES, CUTTERS, SECTIONIZERS &amp; PARTS</b>							
EACH	129	KNIFE, UTILITY SLICER, 9", MANUFACTURER: DEXTER RUSSELL #S1429SCPCP	19	\$ 25.31	\$ 480.89	\$ 20.89	\$ 396.91
EACH	130	KNIFE, PARING MANUFACTURER: DEXTER RUSSELL #S104PCO	40	\$ 6.68	\$ 267.20	\$ 5.51	\$ 220.40
EACH	131	KNIFE, HOLLOW GROUND BONER, 6" MANUFACTURER: DEXTER RUSSELL #S156-HGPCP	8	\$ 20.96	\$ 167.68	\$ 17.17	\$ 137.36
EACH	132	KNIFE, CHEF'S W/FIBROX HANDLE, 10" MANUFACTURER: DEXTER RUSSELL #S145-10PCP	5	\$ 36.32	\$ 181.60	\$ 29.94	\$ 149.70
EACH	133	KNIFE, SCALLOPED EDGES UTILITY, 8" STAINLESS STEEL MANUFACTURER: DEXTER RUSSELL #S158SCPCP	8	\$ 21.09	\$ 168.72	\$ 17.31	\$ 138.48
EACH	134	KNIFE, BUTCHER, 10" STAINLESS STEEL MANUFACTURER: DEXTER RUSSELL #S112-10PCP	1	\$ 37.90	\$ 37.90	\$ 31.29	\$ 31.29
EACH	135	TURNER, HAMBURGER, 4" x 3", STAINLESS STEEL MANUFACTURER: DEXTER RUSSELL #P94854	2	\$ 14.78	\$ 29.56	\$ 12.35	\$ 24.70
EACH	136	TURNER, CAKE 8" x 3" MANUFACTURER: DEXTER RUSSELL #S286-8	2	\$ 27.88	\$ 55.76	\$ 23.02	\$ 46.04
EACH	137	CUTTING BOARD, LARGE, WHITE, 18 x 24 x 1/2" MANUFACTURER: SAN JAMAR #CB182412WH	5	\$ 38.00	\$ 190.00	\$ 37.74	\$ 188.70
EACH	138	CAN OPENER, DUEL SPEEDS, 75 CANS MANUFACTURER: EDLUND #203/115V	3	\$ 960.00	\$ 2,880.00	\$ 952.34	\$ 2,857.02
EACH	139	CUTTING BOARD, SMALL, WHITE, 18 x 12 x 1/2" MANUFACTURER: SAN JAMAR #CB121812WH	1	\$ 19.00	\$ 19.00	\$ 18.91	\$ 18.91
EACH	140	CUTTER, DOUGH /SCRAPER, 6" x 3" MANUFACTURER: DEXTER RUSSELL #S196	1	\$ 5.00	\$ 5.00	\$ 8.82	\$ 8.82
EACH	141	CUTTER FOR CARDBOARD BOX, RETRACTABLE UTILITY KNIFE MANUFACTURER: RUBBERMAID #FG9H0500RED	1	\$ 7.00	\$ 7.00	NO BID	\$ -
EACH	142	CUTTER FOR PIZZA, 4" MANUFACTURER: DEXTER RUSSELL #P177APCP	9	\$ 25.41	\$ 228.69	\$ 21.00	\$ 189.00
EACH	143	DISPENSER, FOIL AND FILM WRAP/CUTTER 18" MANUFACTURER: TABLECRAFT #KK3	2	\$ 63.00	\$ 126.00	\$ 60.55	\$ 121.10
EACH	144	DISPENSER BLADE, FOR FOIL WRAP, 18" REPLACEMENT BLADE MANUFACTURER: KENKUT #682-054	1	\$ 7.00	\$ 7.00	NO BID	\$ -
EACH	145	SHEARS, KITCHEN, 7" SOFG RIP, STAINLESS STEEL MANUFACTURER: DEXTER RUSSELL #SGS01B-CP	9	\$ 13.03	\$ 117.27	\$ 10.88	\$ 97.92
EACH	146	CORER FOR TOMATOES MANUFACTURER: VOLLRATH #1400	4	\$ 2.00	\$ 8.00	\$ 2.31	\$ 9.24
EACH	147	PEELER, VEGETABLE MANUFACTURER: CARLISLE #6020	1	\$ 5.64	\$ 5.64	\$ 16.58	\$ 16.58

Norvell Fixture & Equipment Co., Inc. P.O. Box 14838 Augusta, GA 30919	Pueblo Hotel Supply dba Gradys 170 Greenhorn Drive Pueblo, CO 81004
--	---

UNIT	ITEM #	DESCRIPTION	EST. USAGE	UNIT COST	EXTENDED PRICING	UNIT COST	EXTENDED PRICING
<b>LOT "E" - KNIVES, BLADES, CUTTERS, SECTIONIZERS &amp; PARTS (CONTINUED)</b>							
EACH	148	CAN OPENER BLADE FOR MODEL 203 AND 266 MANUFACTURER: EDLUND #KT2326	13	\$ 68.00	\$ 884.00	\$ 262.72	\$ 3,415.36
EACH	149	CAN OPENER REPLACEMENT PARTS FOR MODEL 270 MANUFACTURER: EDLUND #KT2700	3	\$ 207.00	\$ 621.00	\$ 788.63	\$ 2,365.89
EACH	150	CAN OPENER SHIELD FOR MODEL 270 MANUFACTURER: EDLUND #A279	1	\$ 32.40	\$ 32.40	\$ 29.31	\$ 29.31
EACH	151	CAN OPENER CLEANING TOOL MANUFACTURER: EDLUND #ST-93	3	\$ 44.89	\$ 134.67	\$ 39.99	\$ 119.97
EACH	152	SUNKIST, SECTIONER COMPLETE MANUFACTURER: SUNKIST #S-102	2	\$ 319.20	\$ 638.40	\$ 303.47	\$ 606.94
EACH	153	SUNKIST, APPLE CORER SET MANUFACTURER: SUNKIST #S-34	1	\$ 98.00	\$ 98.00	\$ 88.62	\$ 88.62
EACH	154	SUNKIST, BLADE, 4 SLICE CUP WITH COVER FOR SECTIONIZER MANUFACTURER: SUNKIST #S-5B	1	\$ 40.60	\$ 40.60	\$ 36.25	\$ 36.25
EACH	155	SUNKIST, BLADE, 6 SLICE CUP WITH COVER FOR SECTIONIZER MANUFACTURER: SUNKIST #S-3B	1	\$ 40.60	\$ 40.60	\$ 36.25	\$ 36.25
EACH	156	SUNKIST, WEDGE CUP COVER MANUFACTURER: SUNKIST #S-6	1	\$ 12.60	\$ 12.60	\$ 11.25	\$ 11.25
EACH	157	CROSSBAR ASSEMBLY MANUFACTURER: SUNKIST #S-11	1	\$ 40.60	\$ 40.60	\$ 37.21	\$ 37.21
EACH	158	FOOT PADS MANUFACTURER: SUNKIST #S-1	1	\$ 5.60	\$ 5.60	\$ 5.01	\$ 5.01
EACH	159	SUNKIST, PLUNGE WEDGER MANUFACTURER: SUNKIST #S-9	1	\$ 22.40	\$ 22.40	\$ 20.00	\$ 20.00
EACH	160	SUNKIST, PLUNGER, APPLE REPLACEMENT MANUFACTURER: SUNKIST #S-33	1	\$ 26.60	\$ 26.60	\$ 24.29	\$ 24.29
EACH	161	SUNKIST, BLADE AND PLUNGER, TOMATO SET MANUFACTURER: SUNKIST #S-17	1	\$ 88.20	\$ 88.20	\$ 78.75	\$ 78.75
EACH	162	SUNKIST, BLADE CUP W/COVER, 8 WEDGES MANUFACTURER: SUNKIST #S-29B	1	\$ 43.40	\$ 43.40	\$ 39.29	\$ 39.29
EACH	163	SUNKIST, PRODUCTIONS STAND, PLASTIC MANUFACTURER: SUNKIST #S-31	1	\$ 107.80	\$ 107.80	\$ 98.95	\$ 98.95
EACH	164	SUNKIST, PLUNGER FOR 6 SLICE BLADE SET MANUFACTURER: SUNKIST #S-10	1	\$ 22.40	\$ 22.40	\$ 20.63	\$ 20.63
EACH	165	SUNKIST, PLASTIC SHAFT COVER MANUFACTURER: SUNKIST #S-25	1	\$ 8.40	\$ 8.40	\$ 7.52	\$ 7.52
EACH	166	SUNKIST, HANDLE MANUFACTURER: SUNKIST #S-26	1	\$ 15.40	\$ 15.40	\$ 14.03	\$ 14.03
EACH	167	SUNKIST, KNOB MANUFACTURER: SUNKIST #S-27	1	\$ 14.00	\$ 14.00	\$ 12.75	\$ 12.75

Norvell Fixture & Equipment Co., Inc. P.O. Box 14838 Augusta, GA 30919	Pueblo Hotel Supply dba Gradys 170 Greenhorn Drive Pueblo, CO 81004
--	---

UNIT	ITEM #	DESCRIPTION	EST. USAGE	UNIT COST	EXTENDED PRICING	UNIT COST	EXTENDED PRICING
<b>LOT "E" - KNIVES, BLADES, CUTTERS, SECTIONIZERS &amp; PARTS (CONTINUED)</b>							
EACH	168	SUNKIST, PIN AND THREAD ASSEMBLY KIT MANUFACTURER: SUNKIST #S-8D	1	\$ 8.40	\$ 8.40	\$ 7.51	\$ 7.51
EACH	169	SLICER, TOMATO BLADE REPLACEMENT FOR TOMATO PRO, 1/4" MANUFACTURER: VOLLRATH #654	1	\$ 53.22	\$ 53.22	\$ 48.09	\$ 48.09
EACH	170	SLICER, TOMATO BLADE REPLACEMENT FOR NEMCO, 1/4" MANUFACTURER: NEMCO #466-2	1	\$ 43.88	\$ 43.88	\$ 48.87	\$ 48.87
EACH	171	SLICER, TOMATO, 1/4" MANUFACTURER: VOLLRATH #0644N	1	\$ 525.18	\$ 525.18	\$ 474.61	\$ 474.61
EACH	172	CAN OPENER - 3.5(H) X 10.5 (W) X 4.5 (D) FOCUS FOODSERVICE- SWING A WAY EASY CRANK CAN OPENER, LARGE CRANK MECHANISM, EXTRA LONG HANDLES, BLACK SWING GRIPS, ALUMINUM.	2	\$ 20.70	\$ 41.40	\$ 16.97	\$ 33.94
<b>LOT "F" - MEASURING EQUIPMENT</b>							
EACH	173	MEASURING SPOONS SET, STAINLESS STEEL, 1 TBL;1 TSP; 1/2 TSP; 1/4 TSP MANUFACTURER: VOLLRATH #47118	10	\$ 6.99	\$ 69.90	\$ 6.31	\$ 63.10
EACH	174	MEASURING CUPS SET, 1/4 C; 1/2 C, 1/3 C, 1 C MANUFACTURER: VOLLRATH #47119	5	\$ 7.00	\$ 35.00	\$ 19.27	\$ 96.35
EACH	175	MEASURE, LIQUID, POLYETHYLENE, 1 C MANUFACTURER: CAMBRO #25MCCW135	6	\$ 4.92	\$ 29.52	\$ 7.19	\$ 43.14
EACH	176	MEASURE, LIQUID, POLYETHYLENE, 1 PT MANUFACTURER: CAMBRO #50MCCW135	4	\$ 9.11	\$ 36.44	\$ 12.85	\$ 51.40
EACH	177	MEASURE, LIQUID, POLYETHYLENE, 1 QT MANUFACTURER: CAMBRO #100MCCW135	2	\$ 10.27	\$ 20.54	\$ 17.65	\$ 35.30
EACH	178	MEASURE, LIQUID, POLYETHYLENE, 2 QT MANUFACTURER: CAMBRO #200MCCW135	2	\$ 14.15	\$ 28.30	\$ 22.53	\$ 45.06
EACH	179	MEASURE, LIQUID, POLYETHYLENE, 4 QT MANUFACTURER: CAMBRO #400MCCW135	7	\$ 16.51	\$ 115.57	\$ 22.09	\$ 154.63
EACH	180	MEASURE, DIGITAL SCALE REPLACEMENT AC CORD MANUFACTURER: EDLUND #PS5006	1	\$ 100.78	\$ 100.78	\$ 85.07	\$ 85.07
EACH	181	MEASURE, DIGITAL SCALE, 20 POUND MANUFACTURER: EDLUND #EPZ-20	2	\$ 643.50	\$ 1,287.00	\$ 570.63	\$ 1,141.26
EACH	182	SCALE PORTION, DIGITAL 33# MANUFACTURER: TAYLOR #TE33OS	2	\$ 159.80	\$ 319.60	\$ 189.45	\$ 378.90

					Norvell Fixture & Equipment Co., Inc. P.O. Box 14838 Augusta, GA 30919		Pueblo Hotel Supply dba Gradys 170 Greenhorn Drive Pueblo, CO 81004	
UNIT	ITEM #	DESCRIPTION	EST. USAGE	UNIT COST	EXTENDED PRICING	UNIT COST	EXTENDED PRICING	
<b>LOT "G" - MITTENS, GLOVES AND MICROFIBER TOWELS</b>								
PAIR	183	MITT, OVEN FLAME GUARD, 17" MANUFACTURER: SAN JAMAR #800FG17	2	\$ 15.62	\$ 31.24	\$ 14.91	\$ 29.82	
PAIR	184	GLOVE, DISHWASHING, LATEX MANUFACTURER: SAN JAMAR #620-S	2	\$ 2.75	\$ 5.50	\$ 27.25	\$ 54.50	
PAIR	185	GLOVE, DISHWASHING, LATEX, MEDIUM MANUFACTURER: SAN JAMAR #620-M	3	\$ 2.75	\$ 8.25	\$ 112.91	\$ 338.73	
PAIR	186	GLOVE, DISHWASHING, LATEX, LARGE MANUFACTURER: SAN JAMAR #620-L	2	\$ 2.75	\$ 5.50	\$ 112.91	\$ 225.82	
PAIR	187	GLOVE, DISHWASHING, HEAVY DUTY RUBBER, ONE SIZE MANUFACTURER: SAN JAMAR #1217EL	14	\$ 32.94	\$ 461.16	\$ 30.51	\$ 427.14	
PAIR	188	GLOVE, CUT RESISTANT, SMALL MANUFACTURER: SAN JAMAR #DFG 1000-S	1	\$ 37.75	\$ 37.75	\$ 22.11	\$ 22.11	
PAIR	189	GLOVE, CUT RESISTANT, MEDIUM MANUFACTURER: SAN JAMAR #DFG 1000-M	1	\$ 37.75	\$ 37.75	\$ 22.11	\$ 22.11	
PAIR	190	GLOVE, CUT RESISTANT, LARGE MANUFACTURER: SAN JAMAR #DFG 1000-L	1	\$ 37.75	\$ 37.75	\$ 22.26	\$ 22.26	
PAIR	191	SLEEVE, 18" KELVAR HEAT RESISTANT MANUFACTURER: SAN JAMAR #SLK16	1	\$ 27.30	\$ 27.30	\$ 12.41	\$ 12.41	
PAIR	192	SLEEVE, 18" TERRY COTTON, HEAT RESISTANT MANUFACTURER: SAN JAMAR CHEF REVIVAL #SLWT16	1	\$ 7.00	\$ 7.00	\$ 9.59	\$ 9.59	
DOZEN	193	DISH TOWELS, MICROFIBER, YELLOW MANUFACTURER: RUBBERMAID #FGQ610	217	\$ 57.24	\$ 12,421.08	\$ 3.67	\$ 796.39	
DOZEN	194	DISH TOWELS, MICROFIBER, BLUE MANUFACTURER: RUBBERMAID #FGQ620 (PLEASE QUOTE PER DOZEN PRICE)	50	\$ 60.36	\$ 3,018.00	\$ 4.62	\$ 231.00	
<b>LOT "H" - APRONS, DISH TOWELS, POT HOLDERS</b>								
DOZEN	195	DISH TOWELS, 100% COTTON, 17 x 20, 30 OZ/DOZEN, 100% NEW COTTON, 3 THREADS PER LOOP, SINGLE RIB <i>* SAMPLE REQUIRED* PLEASE PROVIDE ONE DOZEN OF THE DISH TOWELS YOU ARE BIDDING.</i>	116	\$ 10.00	\$ 1,160.00	\$ 19.19	\$ 2,226.04	
DOZEN	196	POT HOLDERS, 100% NEW FLEXON COTTON YARNS, 8.5" x 11", 32 OZ/SQ. YRD, DOUBLE BONDED; <i>* SAMPLE REQUIRED* PLEASE PROVIDE ONE DOZEN OF THE POT HOLDERS YOU ARE BIDDING.</i>	15	\$ 55.80	\$ 837.00	\$ 33.93	\$ 508.95	
EACH	197	APRON WITH POCKETS, RED, 50% NEW COTTON/50% POLYESTER YARN, 7-8 OZ	85	\$ 7.29	\$ 619.65	\$ 6.60	\$ 561.00	
EACH	198	APRON WITH POCKETS, BLACK, 50% NEW COTTON/50% POLYESTER YARN, 7- 8 OZ	89	\$ 7.29	\$ 648.81	\$ 6.86	\$ 610.54	

				Norvell Fixture & Equipment Co., Inc. P.O. Box 14838 Augusta, GA 30919		Pueblo Hotel Supply dba Gradys 170 Greenhorn Drive Pueblo, CO 81004	
UNIT	ITEM #	DESCRIPTION	EST. USAGE	UNIT COST	EXTENDED PRICING	UNIT COST	EXTENDED PRICING
<b>LOT "I" - BRUSHES, WHIPS, SCRAPERS AND PADDLES</b>							
EACH	199	PASTRY BRUSH, 4" WIDE MANUFACTURER: CARLISLE #4039302	12	\$ 16.17	\$ 194.04	\$ 14.46	\$ 173.52
EACH	200	PASTRY BAG, 18"; 9.5" x 17", NYLON, REUSABLE MANUFACTURER: BROWN-HALCO #NPB-6	1	\$ 4.50	\$ 4.50	\$ 18.44	\$ 18.44
EACH	201	DREDGER WITHOUT HANDLE, ALUMINUM MANUFACTURER: VOLLRATH #68183	1	\$ 6.44	\$ 6.44	\$ 5.82	\$ 5.82
EACH	202	WHIP, FRENCH 12" MANUFACTURER: UPDATE INTERNATIONAL #FW-12	3	\$ 4.93	\$ 14.79	\$ 6.73	\$ 20.19
EACH	203	WHIP, FRENCH 14" MANUFACTURER: UPDATE INTERNATIONAL #FW-14	5	\$ 5.59	\$ 27.95	\$ 7.26	\$ 36.30
EACH	204	WHIP, FRENCH 16" MANUFACTURER: UPDATE INTERNATIONAL #FW-16	3	\$ 6.44	\$ 19.32	\$ 7.95	\$ 23.85
EACH	205	WHIP, FRENCH 18" MANUFACTURER: UPDATE INTERNATIONAL #FW-18	1	\$ 7.29	\$ 7.29	\$ 8.95	\$ 8.95
EACH	206	WHIP, FRENCH 20" MANUFACTURER: UPDATE INTERNATIONAL #FW-20	1	\$ 8.03	\$ 8.03	\$ 9.93	\$ 9.93
EACH	207	WHIP, FRENCH 48" MANUFACTURER: CARLISLE #40682	1	\$ 139.62	\$ 139.62	\$ 117.36	\$ 117.36
EACH	208	WHIP, PIANO 10" MANUFACTURER: UPDATE INTERNATIONAL #PW-10	3	\$ 3.64	\$ 10.92	\$ 7.85	\$ 23.55
EACH	209	WHIP, PIANO 16" MANUFACTURER: UPDATE INTERNATIONAL #PW-16	1	\$ 4.96	\$ 4.96	\$ 10.18	\$ 10.18
EACH	210	SPATULA SCRAPER, 16 1/2" MANUFACTURER: RUBBERMAID #FG1906	6	\$ 7.29	\$ 43.74	\$ 3.73	\$ 22.38
SET	211	SPATULA SCRAPER, 13 1/2" MANUFACTURER: RUBBERMAID #FG1905	9	\$ 5.59	\$ 50.31	\$ 2.24	\$ 20.16
EACH	212	SPATULA SCRAPER, 9 1/2" MANUFACTURER: RUBBERMAID #FG1901	4	\$ 3.15	\$ 12.60	\$ 2.20	\$ 8.80
EACH	213	SPATULA SCRAPER, HIGH HEAT, 16 1/2" MANUFACTURER: RUBBERMAID #FG1964	4	\$ 26.21	\$ 104.84	\$ 16.63	\$ 66.52
EACH	214	SCRAPER, BOWL SCRAPER 5" x 3" MANUFACTURER: BROWNE #FS8446	1	\$ 1.25	\$ 1.25	\$ 17.98	\$ 17.98
EACH	215	PADDLE MIXING, 60" STAINLESS STEEL MANUFACTURER: UPDATE INTERNATIONAL #MPS-60	1	\$ 34.00	\$ 34.00	\$ 63.88	\$ 63.88
EACH	216	PADDLE SCRAPER, 48" NYLON MANUFACTURER: CARLISLE #40354	1	\$ 145.58	\$ 145.58	\$ 120.32	\$ 120.32
EACH	217	BRUSH, BAKE PAN LIP MANUFACTURER: CARLISLE #4002402	6	\$ 9.15	\$ 54.90	\$ 8.72	\$ 52.32
EACH	218	BRUSH, BRASS WIRE, 2" MANUFACTURER: CARLISLE #4067200	1	\$ 13.16	\$ 13.16	\$ 12.13	\$ 12.13
EACH	219	BRUSH, CLEAN-UP SCRUB, 20" MANUFACTURER: CARLISLE #4050000	1	\$ 18.23	\$ 18.23	\$ 17.71	\$ 17.71
<b>LOT "J" - BRUSHES, MOPS, CONTAINERS, DOLLY AND CARTS</b>							
EACH	220	BRUSH, DISHWASHER SPRAY ARM, 35" MANUFACTURER: CARLISLE #4002800	1	\$ 9.47	\$ 9.47	\$ 8.98	\$ 8.98
EACH	221	BRUSH, FRYER BRUSH LOOPED, 24" MANUFACTURER: CARLISLE #40112	1	\$ 76.96	\$ 76.96	\$ 67.97	\$ 67.97

Norvell Fixture & Equipment Co., Inc. P.O. Box 14838 Augusta, GA 30919	Pueblo Hotel Supply dba Gradys 170 Greenhorn Drive Pueblo, CO 81004
--	---

UNIT	ITEM #	DESCRIPTION	EST. USAGE	UNIT COST	EXTENDED PRICING	UNIT COST	EXTENDED PRICING
EACH	222	BRUSH, HAND & NAIL KIT MANUFACTURER: CARLISLE #4002100	1	\$ 17.94	\$ 17.94	\$ 16.37	\$ 16.37
EACH	223	BRUSH, HAND SCRUB CLEAN-UP, 8" MANUFACTURER: CARLISLE #4054103	1	\$ 10.22	\$ 10.22	\$ 9.92	\$ 9.92
EACH	224	BRUSH, HAND SCRUB CLEAN-UP, 20" MANUFACTURER: CARLISLE #4050103	1	\$ 15.57	\$ 15.57	\$ 15.01	\$ 15.01
EACH	225	BRUSH, HANDLE SCRAPER W/CARBON STEEL BRISTLES MANUFACTURER: CARLISLE #4067100	2	\$ 9.36	\$ 18.72	\$ 8.97	\$ 17.94
EACH	226	BRUSH, HI-LO FLOOR SCRUB MANUFACTURER: CARLISLE #4042301	1	\$ 16.99	\$ 16.99	\$ 17.22	\$ 17.22
EACH	227	BRUSH, KETTLE DRAIN VALVE MANUFACTURER: CARLISLE #4015000	1	\$ 9.47	\$ 9.47	\$ 8.98	\$ 8.98
EACH	228	BRUSH, OVEN AND SCRAPER, BRASS WIRE BRISTLES MANUFACTURER: CARLISLE #4029100	1	\$ 29.35	\$ 29.35	\$ 27.49	\$ 27.49
EACH	229	BRUSH, TANK & KETTLE MANUFACTURER: CARLISLE #4004200	1	\$ 44.33	\$ 44.33	\$ 40.46	\$ 40.46
EACH	230	BRUSH, TOOTHBRUSH, SMALL, STAINLESS STEEL MANUFACTURER: CARLISLE #4067500	9	\$ 3.27	\$ 29.43	\$ 4.18	\$ 37.62
EACH	231	SQUEEGEE, FLOOR CLEANING, DOUBLE FOAM 24" & TAMPERED WOOD 54" HANDLE, MANUFACTURER: CARLISLE #40082/40261	1	\$ 47.47	\$ 47.47	\$ 52.25	\$ 52.25
EACH	232	HANDLE, THREADED, PLASTIC W/REINFORCED TIP, 1" D, 36" MANUFACTURER: CARLISLE #4023000	1	\$ 19.94	\$ 19.94	\$ 29.37	\$ 29.37
EACH	233	HANDLE, THREADED, METAL TIP, WOOD, 7/8" D, 40" MANUFACTURER: CARLISLE #4027500	1	\$ 7.71	\$ 7.71	\$ 8.84	\$ 8.84
EACH	234	HOLDER SYSTEM, 18" ROLL N GRIP MANUFACTURER: CARLISLE #4073100	1	\$ 34.65	\$ 34.65	\$ 35.44	\$ 35.44
EACH	235	PAIL, GREEN, SOAP SOLUTION, 6 QT manufacturer: SAN JAMAR #KP196GN	2	\$ 8.13	\$ 16.26	\$ 9.34	\$ 18.68
EACH	236	PAIL, RED, SANITIZING SOLUTION, 6 QT MANUFACTURER: SAN JAMAR #KP196RD	2	\$ 8.13	\$ 16.26	\$ 9.34	\$ 18.68

Norvell Fixture & Equipment Co., Inc. P.O. Box 14838 Augusta, GA 30919	Pueblo Hotel Supply dba Gradys 170 Greenhorn Drive Pueblo, CO 81004
--	---

UNIT	ITEM #	DESCRIPTION	EST. USAGE	UNIT COST	EXTENDED PRICING	UNIT COST	EXTENDED PRICING
<b>LOT "J" - BRUSHES, MOPS, CONTAINERS, DOLLY AND CARTS (CONTINUED)</b>							
EACH	237	BRUTE BUCKET, 10 QUART MANUFACTURER: RUBBERMAID #FG296300GRAY	2	\$ 16.14	\$ 32.28	\$ 18.56	\$ 37.12
EACH	238	MOPPING SYSTEM, WAVE BRAKE, 35 QT, YELLOW MANUFACTURER: RUBBERMAID #FG758088YEL	6	\$ 150.29	\$ 901.74	\$ 188.59	\$ 1,131.54
EACH	239	CAN, TRASH, STEP-ON, WHITE, 12 GALLON MANUFACTURER: RUBBERMAID #FG614400WHT	5	\$ 147.95	\$ 739.75	NO BID	\$ -
EACH	240	CONTAINER, TRASH 44 GALLON, (MEDIUM RED), RED BRUTE MANUFACTURER: RUBBERMAID #FG64300RED	1	\$ 85.27	\$ 85.27	\$ 62.84	\$ 62.84
EACH	241	DOME TOP FOR 44 GALLON 2643 MANUFACTURER: RUBBERMAID #FG264788RED	1	\$ 136.74	\$ 136.74	NO BID	\$ -
EACH	242	CONTAINER, TRASH 55 GALLON, (LARGE RED), BRUTE MANUFACTURER: RUBBERMAID #FG265500RED	3	\$ 119.11	\$ 357.33	\$ 93.14	\$ 279.42
EACH	243	DOME TOP FOR 55 GALLON 2655 MANUFACTURER: RUBBERMAID #FG265788RED	1	\$ 174.37	\$ 174.37	NO BID	\$ -
EACH	244	DOLLY, UNIVERSAL FOR TRASH CONTAINERS MANUFACTURER: RUBBERMAID #FG264000	3	\$ 45.00	\$ 135.00	\$ 53.53	\$ 160.59
EACH	245	DOLLY, TANDEM MANUFACTURER: RUBBERMAID #FG264600BLA	1	\$ 243.64	\$ 243.64	NO BID	\$ -
EACH	246	TROLLEY, TRIPLE STANDARD DUTY MANUFACTURER: RUBBERMAID #FG440100	2	\$ 252.13	\$ 504.26	\$ 303.40	\$ 606.80
EACH	247	LADDER, MOBILE 3 STEPS STOCKROOM MANUFACTURER BALLYMORE #H318	1	\$ 458.00	\$ 458.00	NO BID	\$ -
EACH	248	UTILITY CART, 15" x 24", SMALL MANUFACTURER: LAKESIDE #711	3	\$ 1,003.28	\$ 3,009.84	\$ 1,009.75	\$ 3,029.25
EACH	249	UTILITY CART, 18" x 27", MEDIUM MANUFACTURER: LAKESIDE #722	2	\$ 986.31	\$ 1,972.62	\$ 1,000.99	\$ 2,001.98
EACH	250	UTILITY CART, 21" x 33", LARGE, <b>MANUFACTURER: LAKESIDE #544</b>	3	\$ 1,258.92	\$ 3,776.76	\$ 1,177.06	\$ 3,531.18
EACH	251	BOWL ONLY, 13 QT MANUFACTURER: VOLLRATH #69130	1	\$ 46.47	\$ 46.47	\$ 42.00	\$ 42.00
EACH	252	BOWL SET INCLUDES STAND FOR 30 QT MANUFACTURER: VOLLRATH #79302	1	\$ 1,595.42	\$ 1,595.42	\$ 1,441.78	\$ 1,441.78
EACH	253	BOWL ONLY, 30 QT. MANUFACTURER: VOLLRATH #79300	1	\$ 220.83	\$ 220.83	\$ 199.56	\$ 199.56
EACH	254	BOWL STAND ONLY FOR 30 QT BOWL #79300 MANUFACTURER: VOLLRATH #79002	1	\$ 1,374.59	\$ 1,374.59	\$ 1,242.22	\$ 1,242.22
EACH	255	BOWL SET INCLUDES STAND FOR 80 QT MANUFACTURER: VOLLRATH #79818	1	\$ 2,141.87	\$ 2,141.87	\$ 1,935.61	\$ 1,935.61
EACH	256	BOWL ONLY, 80 QT MANUFACTURER: VOLLRATH #79800	1	\$ 545.60	\$ 545.60	\$ 493.06	\$ 493.06

					Norvell Fixture & Equipment Co., Inc. P.O. Box 14838 Augusta, GA 30919		Pueblo Hotel Supply dba Gradys 170 Greenhorn Drive Pueblo, CO 81004	
UNIT	ITEM #	DESCRIPTION	EST. USAGE	UNIT COST	EXTENDED PRICING	UNIT COST	EXTENDED PRICING	
<b>LOT "K" - MISCELLANEOUS</b>								
BOX	257	DISPOSABLE MASKS MANUFACTURER: COMMERCIAL #FP142-1548 (PLEASE QUOTE FOR PACK OF 50)	5	\$ 34.51	\$ 172.55	NO BID	\$ -	
EACH	258	FIRST AID KIT 173 PIECES MANUFACTURER: SERVICE IDEAS #1124SI	1	\$ 68.95	\$ 68.95	NO BID	\$ -	
BOX	259	FIRST AID SUPPLIES: ALCOHOL WIPES MANUFACTURER: FMP #280-1540	24	\$ 5.00	\$ 120.00	NO BID	\$ -	
BOX	260	FIRST AID SUPPLIES: BANDAGES, ADHESIVE PLASTIC, 1" x 3" MANUFACTURER: FMP #280-1537	12	\$ 14.00	\$ 168.00	NO BID	\$ -	
BOX	261	FIRST AID SUPPLIES: CLOTH TAPE, MANUFACTURER: DYNAREX #DYN3561	1	\$ 33.74	\$ 33.74	NO BID	\$ -	
EACH	262	FIRST AID SUPPLIES: CREAM FOR BURNS, 0.9 G EACH MANUFACTURER: WATTER JEL #WJFA1728	1	\$ 16.19	\$ 16.19	NO BID	\$ -	
EACH	263	ORGANIZER, 5 BIN PORTION PAK FOR COUNTER TOP, SERVER MANUFACTURER: SERVER #85140	1	\$ 114.21	\$ 114.21	NO BID	\$ -	
BOX	264	FIRST AID SUPPLIES: GAUZE PAD MANUFACTURER: KENDALL #KND1806	1	\$ 12.99	\$ 12.99	NO BID	\$ -	
EACH	265	FAN, WALL MOUNT 18", 3 BLADE MANUFACTURER: COMMERCIAL #PATTON B-18	2	\$ 140.00	\$ 280.00	NO BID	\$ -	
EACH	266	TIMER, MECHANICAL MANUFACTURER: COOPER #TM6008	2	\$ 15.36	\$ 30.72	\$ 14.04	\$ 28.08	
EACH	267	MAT, GREASE RESISTANT, TEK-TOUGH JR, BLACK, 3' x 5' MANUFACTURER: WINCO #RBM-35K-R	11	\$ 79.16	\$ 870.76	\$ 105.18	\$ 1,156.98	
EACH	268	TOOL, LID OFF MANUFACTURER: UPDATE #PO-8P	2	\$ 7.74	\$ 15.48	\$ 16.74	\$ 33.48	
EACH	269	LABELS, FOOD ROTATION, ADHESIVE & DISSOLVABLE 2" x 3", 250 PER ROLL MANUFACTURER: CAMBRO #23SLB250	6	\$ 20.25	\$ 121.50	\$ 449.16	\$ 2,694.96	
EACH	270	HOOKS, DOUBLE POT MANUFACTURER: FMP #280-1086	1	\$ 2.00	\$ 2.00	\$ 3.31	\$ 3.31	
EACH	271	RAPI-KOOL, 64 OZ MANUFACTURER: COMMERCIAL #RCU64	1	\$ 42.77	\$ 42.77	\$ 49.27	\$ 49.27	
EACH	272	SPRAYER, TRIGGER/BOTTLE 24 OUNCES MANUFACTURER: CONTINENTAL COMMERCIAL #902-3RW	14	\$ 3.75	\$ 52.50	NO BID	\$ -	
EACH	273	SADDLE BAGS, STAINLESS STEEL DISPENSER 9 X 6 X 12 MANUFACTURER: COMMERCIAL \$M18	1	\$ 84.50	\$ 84.50	NO BID	\$ -	
EACH	274	TRUCK, HAND, PIN HANDLE W/CONTINUOUS FRAME, CAPC. 800# MANUFACTURER: KELMAX #46T77	2	\$ 194.40	\$ 388.80	\$ 169.41	\$ 338.82	
EACH	275	LUBRICANT FOR EQUIPMENT MANUFACTURER: JOHNSON ROSE #6099	1	\$ 16.00	\$ 16.00	\$ 27.25	\$ 27.25	
EACH	276	TOILET BRUSH MANUFACTURER: RUBBERMAID #6310	17	\$ 4.14	\$ 70.38	\$ 6.07	\$ 103.19	
EACH	277	TOILET BRUSH HOLDER MANUFACTURER: RUBBERMAID #6311	17	\$ 3.75	\$ 63.75	NO BID	\$ -	
<b>TOTAL ALL ITEMS IN ALL LOTS</b>				<b>\$ 24,518.68</b>	<b>\$ 79,388.74</b>	<b>\$ 23,612.22</b>	<b>\$ 70,163.94</b>	